E2 1 4T10S

PROFES SIONAL
QUALITY

S EE/SERR

SINCERE MUTUAL TRUST AND
WIN WIN COOPERATION

MiRBiRE R R ok AR ERE




ABOUT US 3; £

EFEA] JIN JIAD SHOU

©4008-270-668

o TANRREMK. FiE. HEA—FNELSHM4ETRY, EWEFBESE. THSE. RESE. FESE. 89S, EBRE
X, RYE. BREESSHTR. AFEMEEL, BFHERBNEEER, FIFEARR, EFREMETFRNREEERESERSHNER
, BREETERRATNERNRAS LR . AEREELNHLNERINME, BRIBER, ARFROREHLH, UaRIR, SHES,

SMEHE, MEEE, RERENRRARET KREFNEENEE.

SARABEENE, AERFABABHSE, BSESHITLSEHE, F—RFEAM @XM, AATRERDENME, —EEFHE, #
BIBEAL. 2ERSHE: 4008-270-688

@ Jinjiaozhen is a professional pneumatic component manufacturer integrating R &amp; D, manufacturing and sales, specializing in the production of high-end products

such as slide cylinder, Rodless cylinder, rotary cylinder, finger cylinder, swing cylinder, metal button switch, bellows, nylon drag chain, etc. In line with the business philosophy
of customer first and striving for improvement, the company has been constantly expanding and developing.

While continuously strengthening the quality management and after-sales service of products, it also attaches great importance to the cultivation of scientific and technologi-
cal talents and the investment in scientific research. Now we have a professional R &amp; D team. Since its establishment, we have been striving for continuous innovation of
our products. We have won the trust and praise of our customers for their excellent quality, wide variety, novel appearance, reasonable price and perfect service.

With a serious, responsible and enthusiastic attitude, golden horn will create a broader world in the field of pneumatic industry. We warmly welcome you to join us and

work together to create a wonderful life. National Service Hotline: 4008-270-688

o Ll AR oI EEHIF SIEHRE

PROFES SINCERE WIN WIN
SIONALQUALITY MUTUAL TRUST AND COOPERATION



Contents B 3

|
EH5
JIN JIAD SHOU
(©4008-270-668

)|\
Page
MHZ[ 2% %
FATIFERE( D6~ D40)
|m
Page
07 J

MHY2% %
+ SRR 180° FH O 10~025

Page

.14 )

RIS (D8~ D 20)

|mn
Page -

e

—

MHS3% 7
SEATF A BY/EHER (O 16~ © 125)
#AaRH
Page s
24 | g
‘ Q P et
L
MXS %71
BA(HFEES) (16~ D25)
BARH
Page . =,
L 42 | l g

MXQZ% %
INISTHB&(HE&ESH)(06~020)

05 J

Hifq

Page

MHC2% %l
¥ EFHRISH (Frd) ©10~025

Page
10 )
L2% 7|
FHSMCETHAR) 010~040
|

P
n

R
L Bening |
-

MHS2% 7%
AT F R B/ BB AR (@ 16~ D63)

|]n

Page

|

MHS3% 31
FA7 FEY B ALK © 16~ ©63)

BE]E

Page —
———
qL 29 Jal

. o 2

MXQZ 71|
SHig & (EFAEESH)/WEE(06~025)



I s H x
¢ %ﬂ“\ﬂ ssuuu ®4008-270-668 SINCEETFAR)MHZO2E5(© 6~ D 40)

W #s

AR « A AER - FOA RIERIE « ey EERET - st

B ICRIE | ME

| B L
FL#Emm
{# B iiE 5
EREAN WAEM 0.15~0.7/0.2~0.7 0.1~0.7 0.1~0.7
JEE(MPa) | #Ef 03~0.7/0.35~07 0.25~0.7 0.25~0.7
HER IR E -10~60C
FEEFE(mm) +0.01 +0.02
MR MHZL2 7 & (A5 & (c.p.m) 180(MHZL2E % 4 120) 60
] TTRE
HMIEAR WER - B4R
il 1% FF 5 (R 3% 16) Jo B S M I R(MHZA2, MHZAJ2F o5 8 T FF %)
EEOR M3x0.5 | M5x0.8
*MEEER, BESEFISHSO V62,
W RSRTH*®
FiTFAR MHz;] 2 -16]D[][]L]- MQPVQ
Bt . ';?‘I‘Eﬁiﬁfi
TS | #F 4B FiE#- B RS LS| 2
A e 2] 2% xee|xmurx > 11T
Al [MEIHRR L NEIA AN R T
L |kFE=m _ @fFAERY Ll
J |Bmezn SAEER _ SBLAHE
——— S [#%R &M : e ——
REEEICED xig 8| |T —HRB(CR)
oot || TR AR F | @AREE(FKM)
P s | E®ESI)
Eismm ';}‘Itt“mRMHZAJ2HMHZJ2ﬁ ESIE-
10| 10mm T {4 AT 32 o
E 16mm
ﬂ 20mm
ﬁ 25mm
ﬁ 32mm
ﬂ 40mm

AN (A AN ELEZ 0 6,
TR A (LR MR AR ¢ 10~ ¢ 25.
e R B (IR RERE 06~ 25.
ERHEMEFXES
MIN,MINV,MIP,MIPV,
M9B,M3BY
EHEFANSHET.

MEBEKERTIES:
xi2€-0.5m,L-3m,z-5m.

ZIiEmMR
7ol | mt firemm) wERE | Fieiem [
MHZA2 b3V 6

? ~
A
MHZAJ2| 001 6 :\;—()—

DI

6
MHZ2 | {5 | 10-25 )
32-40
mHziz | | 10-25 )
wiziz | W | 6-2s O 23 MHAZSBNHZ 2SR N S48,
—O- ki —| Kb b L

&) MHZAJRIMHZ 2R BRI . o) o i % M FMHZA2-6RMHZAJ2-6,

T 5] % & FRE, W K M H.

01/http://www.goldenhorn.cn/



L a

4

i
EmE ©4008-270-668

JIN JIAD SHOU

SIN(FETFRE)MHZO2Z 51 (O 6~ D 40)

| B3t
BT FEEEANERN FrHTE
- ()
MHZ2-6] 3.3 6.1 1.9 < i 4
MHZ2-10] 11 17 T3 13 4
MHZ2-16[] 34 45 27 38 6
MHZ2-20[] 42 66 33 57 10
MHZ2-25[] 65 104 45 83 14
MHZ2-32[] 158 193 131 161 22
MHZ2-40[] 254 318 217 267 30

FFERITHE

FFA1TER

(P
mm

13

MHZL2-10] 1 7.1 8
MHZL2-16[] 34 45 27 38 12
MHZL2-20[] 42 66 33 57 18
MHZL2-25[] 65 104 50 85 22

husy MHZJ2-60] 7 ; ; 5
(P8l MHZJ2-10C1| 9.8 17 6.3 12 2
MHZJ2-1601| 30 20 24 31 6
MHZJ2-2001| 42 66 28 56 10
MHZJ2-2501| 65 104 45 83 14
O#F=D=X{EH S=#{EH (FH) C=9EH (EH)
MHZ2-10C IR EFF X R R R T
B SN ERTE(ZE k) 62
eMHZ 2—-[ (¢ 10~ $40) s | MR
WAER /e ]
BEXxR 4- KIRELR K2 (ZEAWIL) /
" . o LBIL(ZRAA,) Y i E 2
D — I f : l
A B
= G (B b m— g il O
= ! ¢l DAE
S : OERlHY A )
2 KEERKI jf‘ T ~ +’} Heqe £ (R IF e, ST AL 2%
(FRARTL) & [t MHZ2-OORRE FF X R MR~
.c ] B B | M- - )
9|z A D £ a2
Al ) 2- K IRSIR K3 s EIEXuEE
A (ZRARID
(FEDan)” -
pae 2% \GETaED
(ZENRRI) ! |
L &\
= — = e =
A @ | )
= ' U 7F) HE AR 1 FF 32D-Y59., D-YBO&D-Y7H, Uk
5 E Y R

* SRR S E  — 0 0P REAL.

2 v2 |aa|BB|ccC|oD| EE
10 | 19 | 580 |11]| 02H90™{%3 | 16.4£0.05 |5.2+0.02| 7.6:0.02 |18 |12 | — | —| —
16 | 19 | 8 3 13| 03HO{#3 |23.6+0.05 6.5:0.02| 1120.02 [22 15 |11.6]2.1| 58
20 | 238 | 108w (15| o4HO¥® %4 |27.640.05 |7.52£0.02|16.8:0.02|32 (18 | 14 (21| 9
25 | 285 | 1280 [20| 04HO9¥™ %4 |33.6+0.05 | 10£0.02 |21.8+0.02|40 |22 | 19 |35 [11.5
32 |31(37) | 159 |24| o5HOP® K5 | 40401 |12:002| 23002 (46 |26 | 24 [33|115
40 |38(45) | 1880s (28| oSHOT™ 5 | 48:0.1 |1420.02| 29+0.02 |56 |32 [29.4|3.7 | 13
F K |Ki|k2|k3|oL| M | o]
10 | 6| 23 |12| 378 | 57 [29[152%%% [11.287|4 8:|16| M3x0.5| 6 [55| 6 | 26| 27 |eo11HO $*°K2 [11.4|M25x0.45| 3 |5.7|M3x05| 23 | 9
16 (75| 245 (15| 425 | 673 |38(209%% [14.93:|5 51| 24| Max07 [45| 8 | 8 [34| 30 |e17HO §*°K2 |16 | M3x0-5 |4 | 7 |M5x0.8|30.6{75
20 |95| 29 [20| 528 | 848 |50|26.3%2 |16.337| 8 §1|30| M5x08 | 8 |10 10| 43| 35 |e21H9 ™ {E3 |186| Max0-7 |5 | 9 |Msx0.8| 42 |10
25 (11| 30 |25| 636 | 1027 |63|33.3%% [19.35:[108:(36| Méx1 |10|12|12|5.1| 365 |026H9 §"™*{# 35| 22 | M5x0.8 | 6 |12|Msx0.8| 52 [10.7
32 |12|40(49)|29 [67(76)/113(122)| 97 | 48*%° | 265s[123:|46| M6x1 |10|13 [ 13| 5-1|48(57)|034HO 4™ %4 |26 | Méx1 |7 |14|Msx08| 60 |11
40 |15 |49(62)| 36 |83(96)139(152)(119| 605" | 3085|1401 |56 |M8x1.25| 13 |16 | 17| 6.6/58(71)| 042H9 3" T4 |32 | M8x1.25 | 9 |17 |M5x0.8| 72 | 12

) () PR SE sl ) RS

http://www.goldenhorn.cn/02



@ ~

E; EE'K ®4008-270-668

SN (FEATFAE)MHZO2Z 51 (D6~ D40)

B SMNERSTE(ZEX)
| g eMHZ J2—-61(4$6)
eMHZ2-600(¢ SAEF/EAAE
Q4 F/ A BF
BAR
§
— almad | || =
2-M3x 0.5 SR(ZREW)
3 T ' o3 2:M3 x 0.5 B3R
I — @}; < SOE 26 E3(RRA)
JTT1F | N
i ! P"
o 1 255 ] 8 o —— L :
bl 308 Ey- | [¢
| | 53
255

MB1E 8.6.5

|| e

25

1n7

T - — P IREER PR - -

® MHZ J2-[0J0(¢ 10~¢40)
SAER/BER
= <ol

7] :--,'- 1AL8:0005 PR31APIB] 55 !»iu 2.2 4| :H:u,. 5 5[5 -» : Inhmig ST6 L Eﬁg&
o Zp o2 #wmhhsbblslml#z bestro 5.1 144 : . Tobh el
[2] {2 add 21 fles fias 511 5,148 |00, : 14 b Yoo e s anhbsib
2] Jabfapds @MWHWIWPSM%W 14b{zpjmwsptad poJadrpaildn

http://www.goldenhorn.cn/03



1N ¢

JIN JIAD SHOU

'ﬁﬁgx ®©4008-270-668

SIN(FETFRE)MHZO2Z 51 (O 6~ D 40)

B SMERSTE(ZEX)
MHZAJ2-6[1( ¢ 6) :
WAz =611 45 AR/ B4 ey B
WIER/2{ER N (TR AEE) &l
ha § e —t o
(% H ) N2 xM2x 0.4 WRELT 4
2 M3 x 0.5 ML (% ¥ ) ‘&ﬁm.ﬂ)
fLit2.6 WL (ERAL) P = 2 x M3 x 0.5 ML (% ¥ WD)
=$ g a5 £ é Gj JLE2 6 ML (ML)
- - l-—-l T
_'_ [ & q;‘ o | :\ip- |_b o
=1 J lahl s T J . AL
I » Jl ol § 3] -l © 7 o
[ iy L&
i ? ;;’ y
| =% o7Ha ‘5™ i% 1.5
gl = 1 g",? 165 £
HE N 107 1;;:;;;41&&;&4,5
LS
M3x 05
.".xmw" m—ws. 4xM2x0.4 M3 x 0.5
P (% AL (ffﬂﬂlll P ('ae;mnmmu [FRran
1 ;’“H [ @ 3 ; E | g
25 5 4.3 25 5 43
12.1 * BRI A, — M5 2 BT 12.1 *EIERRIE G, — S AR Tl
- MHZL2-10[JRitEFr e REER
eMHzL2-[0 (¢ 10~$25) | —
WAER/BER = | 5
KITRE @ 3
Y
N ’ ol 19]
R—— N :
_ 4 .:Ieli:z‘:fﬁﬁ&m I I e : ~{> :
|
. o @ b 5 =
w f— } B ?!l ] ‘éj__ < .2
- [ o Té 1 S RRFETT 6N, ~URAR AT B (AL %
s [ MHZL2-CICIRE FF X R R~
HE: - BB |
k5l E i \A e ® 6.2
= ,_;zmmxxs S ﬁ ﬂ|
S (i) e)
FRACT N : 3
W o 81 I\ :
LR T ! Y L
l _H
! sl W T
v

FE) M A RLPE T D-Y59, D-Y692D-Y7H,
A AT B AL B8

4% K |K1|K2|K3|oL| M ‘ Q
10 | 6 | 25(35)| 12|37.8(47.8) | 57(67) [35]|19.2°F |11.28: [43:[16 |M3X0.5| 6 [5.5| 6 |2.6]29(39) | 611H9 t*° 2 [11.4| M2.5X0.45 | 3
16 |7.5|31(36)| 15 ]45.2(50.2) | 70(75) |47]26.9'% |14.95: |53 |24 [M4X0.7]|45| 8| 8 |3.4]36(41) | @17H9%** 52 | 16 | M3X0.5 |4
20 |9.5|36(42)| 20| 58(64) 90(96) |62]34.3% | 16.35. | 83|30 [M5X0.5| 8 | 10/ 10]4.3| 43(49) | 21H9 4= %3 [18.6] M4X0.7 |5
25 | 11]40(50)| 25 [66.9(76.9) | 106(116) | 75| 41.3'° | 19.35: |103: |36 | M6X1 | 10| 12|12]5.1| 48(58) | @26H9 2* {%3.5 | 22 | M5X0.8 |6
10 [57|M3X0.5] 23 |8 | 21(31)] 5 4| 11| 02H9 ©™ {£3[16.4+0.05 | 524002 | 764002 |18 [12| — | —| —
16 | 7 |M5X0.8|30.6 | 8 | 25(30)| 8 &= 13| 02H9 2™ i%3|23.6+0.05 | 6.5+0.02 | 11+0.02 |22 |15[11.6/2.1| 5.8
20 | 9 |M5X0.8| 42 [10] 30(36)[105| 15| 04H9 ™ 44 |27.6+0.05 | 7.5+0.02 | 16.8£0.02 | 32 | 18| 14 |2.1| 9
25 | 12 | M5X0.8] 52 [10] 33(43)|125x |20 | @4H9 5% {4 |33.6+0.05 | 10+0.02 | 21.8+0.02 | 40 | 22| 19 |35|11.5

i) (O ES AR RE R
e TTAERTIE S FPE W KM HE RS,

http://www.goldenhorn.cn/04



.
5 2mu
, S2FEBh ©4008-270-668 A FFABIS S (FRAER)MHC2 R 51 (10~ © 25)

© JIN JIAD SHOU

| B3k
hiEAN BIEA, DEHR
{# A& =5
5 BiER 0.1~0.6MPa
ERENEE em 0.25-0.6MPa
MBI RE —10~-B0°C(Fi%KL)
x5 18 RS (c.p.m) 180
BESIEE (mm) +0.01
i FEE
BEMETF S (FTIAT) Fohb ST £ (3R, 243K)

*MEER, WAEF1SHISO VG2,

W #5
WER - S B - A5

F [E) MR

. W iTEE
FA )EFEHEE: 16, BIEA, FFFNIE0.31IN - m(ENFE0.5MPa)
FR EMES: MHC2-16S

2)FF BELLE: 25, WIEM, FFNHE1.36N - m(EHFE0.5MPa)

TR £
ﬁ?%'iiﬂg’:ﬁjliér\l-m‘ FRfE | 2 R e Ut
mm | (B3E) (Ff) | &g MBG2.012 o/ it 7 £ 3w
MHC2-10D| 10 0.10 39 - y
e _MHC2-16D ] 16 0.39 s0omotop Y] .‘Ef%ﬁ*ﬁ&
‘ MHC2-20D | 20 0.70 180 T X
MHC2-25D | 25 1.36 311
MHC2-10S | 10 0.070 39 10
16
won S 00 {soop B L o SRR s
MHC2-25S | 25 1.08 316 o] ‘
FEEEFEARERE TS RENF LR, BhmEEFXERREADC2V.

#E1)E A10.5MPakt 808
HE)FEHEF LN RE.

W SME R ~HE(E k)
MHC2-1001X £

7
3 R 4-M3x0.5BRS(ZEPMIL) _
71|\ B2 eRIL(ZREHT) o7

<
gl 4;} < m,&\lr‘ﬂlm¢_
M| = L_al. N T | —
=l 2} = P T
HB\E & e 4-M2.5%0.45 & =
: - (HEEEHEL)
( 128 M3x0.5 = FHREEEDHE
52.4 (FHaA@EO) .72
M3x0.5 18.8
(FHRFED)
L0
“‘L" 0.043
o | T Ve U
mEyy TN ) BERNHE —0
L] e M L o
o ,,f' ﬂ
TN
HEREEFXHES, 7
2-M3x 0.588 4 6 / B FEREHB(EN) BEMEETL R,
(EEREAL) 6.2

05/http://www.goldenhorn.cn/



L@ =
B
" EEJ ®© 4008-270-668 ¥ EFRESERER)MHC2Z5)( 10~ 0 25)

“ JIN JIAD SHOU

W SMERSTE((EX)

2-M4 x 0.7 5L 6.5

4x M4 x 075 GURE (%4 AR L
/ THE3AEFERAAL)H

(EERRL)
=2 [ = ” t’, o
N N &
g ) T
107 l‘;IF'J 4xM3x%0.5
236 i HF=ERRT) =
15 . e \FHEEE TR
'_?_ ¢17H9’“'MS F15 | (B2 8) MSxD.B(fﬁ}EjﬂﬂE!)
EdE]l e —— ———
== MEx0.8(FHEFEDO
ol 1T
3 «q’
&J 9 /)E)%ftﬁiﬁf}iﬁé.—ﬁﬂ
/i_p u_r_; é/\/ O R
2% M4 x 0.748 4 8 iR AE(wR) HEARETRNGE, T
iR k EEREILEE,

2% M5 x 0.898 & FR8

(EERET)
T4 Y
1l -&-
fooTHiE]] ]y 3
3 = o
. E 2 S
57, _ amaxo7
cm#f%mnm% kg
T8 as |27 | HF { '/ |222]
M5x0.8
= 882 (FHAED)
|| #21H9 gy 5 - {78.7)
G
—
o g W
v RS
NS o ’}E)a{mmma.—m
SR et AT mnEmmma.
yuggmenn /52 || [\aaseunaton
2x ME x 188 51 10
(ZXHET) AxM5x0.B(M 4L EREI)
| Pand _ é
[ o '@ Il - . o3 -
I TR & g S5 IS = |19 O v
¢ 7y | D4
\.‘_j \"j ]
Y M5x0.8
157 0 (FHAED) / | &l
33.6 iy M5x0.8(FHEFER) / |e285
B2 60.4
. : - -
- $26HO 7™ F15
=~
p=
Jd LT
e} K/
. |
¥ ) geRnms —n
D5 Ng [0 Q AOEHERIL,
= HERBEALOGE, T
2xMex iRz [ 6.2 BEFLRERE AN REMRRIEA R,
EETTEN

http://www.goldenhorn.cn/06



{

4 %ﬂ@gﬂu ®© 4008-270-668 SINGE A F AR/ 180°F HAIMHY2E F(® 10~ 0 25)
W R AR
MHY2-10D ‘ MHY2-16D MHY2-20D | MHY2-25D
{E B i i B
BEEI WAER
SERAEHN Mpa 0.6
BEEAEH MPa 0.1
R AR ARIRE -10~+60°C
oS e e E 60c.p.m
EEWE +0.2mm
EDLFHFNE N-m 0.16 0.54 1.10 2.28
2258 THE
*MEBIRE, ATREMMFX. EEOE M5 % 0.8

¢TI RIKRIE. 1) %0.5MPalE AR R T
«TELBHRTETER, T : m i barve ol il
il i fifon $2) MEEIE, 1§ IS T12HISOVE32.
N

«BREHE, WEEEL.

W EESRRHE B =z=
MHY 2 -
2;11-—T R4
Th: FF B fig e ) s | 24
T 180 e WA s [1¢
e 10 [ o10mm REPLTF XM
16 | o16mm Tt [
ﬂ 220mm MIN(V) N )
25 | 825mm MOB(WY) REPE TR I HURS B
E— op o | TS B R 51
FiREEHR V)
o= ST R IR AT, S R
Eict | IATRG TSNS Wl
2 FEH] T RE AL &S fil; MIN, MINL
M A5 W £1hE
kBB L L

07/http://www.goldenhorn.cn/



4

& JIN JIAD SHOU

Y
" %Ex ®©4008-270-668

SIN(EZEFHAE)/NER180°FAMHY2Z 5(O 10~ D25)

B 5 ER~FE(Z )
® MHY2-10D
4-M3X0.5
(REHARIL)
6:4 408
JI°

® MHY2-16D

4-M3x0.5

(REMWHE
8585
-+

=

CT&4]

()
@)

Eol—1-

22

23.5

30

l..‘
il = a’l
&

“2-M3 X 0,548 4 iF4

(REEA)

4 4-M3 0,59 &1 %6

/ (RERL)

2-03.4
(EETL)

E=f-o—o-—F—

= e ——

j 10
a5

24

47.5

58

M5x<0.8

@ﬁam»\
1 : '"_7" ________ }0" mI

M5x0.8 23 |7
(FHEEL

L &
o e X
\2-M4x0 7485 RS
(RERA)
5 4-M4 X 0. 798 41 %8
(REEI
2-04.5
FAREID
e
| H | =1
B s
20
41
55.5
69
M5%0.8

W\

M5%0.8 25 |7
(FHEETL)

REFMERE
$ e =+

3H8 3" ix3

Y 2-M3 X 0.548 4 76

& / (RRBAH

15

X
b=

<

3H9 3 ®1.5

& 2-M4 % 0.748 5 R8
$ ETTEN

I

30
38

T
! $17H "™ F1.5

@_

& p
&

2

20
B XREEAE
I\$

s

D/
@/
&‘0‘

7

18 |

http://www.goldenhorn.cn/08



L4

=2
. ER Bx ©4008-270-668 SN A FF A /8 3t 180°FF FIMHY 2% 5)(© 10~ 0 25)
® MHY2-20D

2-M5 3 0.848 4 iF8

(REEL) REFUEIEE
I a— -
s 1 \\B
13 —1
4-M4x%0.7 42
\(REWFRIL
10:§.532 8 _ 4-M5> 0888 5LF10
w (REREa)
z 2-45.5 & 2-M5 % 0,888 &1 10
ES A ETEN b ETITY
ik
BE |
] E=fo—8—F— ki
I T 7 T Y
® i 8 = ; 8 Ty 8 ¥
Py | O S — — 1 %
I T
o ~ ! $21H* 0% @15
& & 25 zu /] ||
bs = o
89 16
86 26
| o
— HMAXREHMAE
(FHEHFL)
’ RS
I|| Ly e
T (2]
1 e /ﬁg """ PRIE AR
I i A
T
M5x0.8 32 8 bo i
(FEATL) < _|la
® MHY2-25D 2-M6X 18240710 ZRACEEE
(R fiia
ou & w[ B & &
I} @ = $I
U — el wy
4-5X0.8 50 4H9;9990 354
(EEMIRTL)
12:3 4%
. 10 4-MBX 148 41§12
& (RN 2-M6 X 188 41§12
o b 2-96.6 (REEI)
o = 4 v
a8 SRR
I
et ,5___ oy
_! {19'— 0|
! I o &l
1] : t ;
| L — =P —- T
— | $26H9 ;"% F1.5
& zun /||
| ] 30 o
80
18
86 an
107
M AREELE
M5%0.8
<¥t§3ﬁ1_1\ e
‘I T i
. +|[_| _. /fg_ ...... \&3_ g[ i &
L @/
M5x0.8 az_ |8 < a3

(FHRATL

09/http://www.goldenhorn.cn/



=
& ERM
SEFEBA (0 4008-270-668 ERSN(FTHAR)MHL2R F)(O10~040)

© JIN JIAD SHOU

158 A it =5

FIER X WAEHA

EmERERD MPa 0.6

RIEEMREH MPa 0.15 | 0.1

FERERE -10~60C

EERE +0.1mm

H1) REAN 14 | 45 74 131 228 396
E®HOE M5x0.8 Rc1/8

1) E0.5MPatifE h T B3 A 06 B 240mm ( $10~ $25) BOmm ( ¢ 32/ 40)

=
CFRARK, EARBERANDE W #5
CTEEIR, EMKAREN l
- RREREEAE, STEERSFA
B LR, ERMASIEEE

B EERTHE
MHL 2 —_?_m—lvsgAlQ

REMTFXAM BT RWE

21 ! e s
T L) L§% fi A A

. Fic S | R 3% |~
K T —— n n’~
—— BBV S ST, bR L
i @10mm FHREERRILS.
16 | @16mm Kl s -05m, L-3m, A
20 | o20mm Y598, Y50AL
25 | @25mm iR TR
32 | @32mm firiz | @10 | @16 | @20 | 825 | 232 | 240
40 | g40mm kice| 20 [ a0 [ 40 | 50 | 70 | 100

1 40 | 60 | 80 | 100 |120 | 160
2 60 | 80 | 100 | 120 | 160 | 200

-
W T
— —H '} MHL2-10D 60 20 56 76
— — MHL2-10D1 10 - 40 78 118
]'I i i |-' MHL2-10D2 60 96 156
i [ MHL2-16D 60 30 68 98
L ! MHL2-16D1 16 20 60 110 170
L2 T e |
MHL2-16D2 80 130 210
MHL2-20D 60 40 82 122
MHL2-20D1 20 i 80 142 222
MHL2-20D2 100 162 262
o Y . @ o) MHL2-25D 60 50 100 150
| E@ C MHL2-25D1 25 - 100 182 282
| = < | © MHL2-25D2 120 200 320
I - MHL2-32D 30 70 150 220
\ - MHL2-32D1 32 - 120 198 318
i | | MHL2-32D2 160 242 402
. MHL2-40D 30 100 188 288
D RS (mm)
R RlemE#® (mm MHL2-40D1 . & 160 246 406
MHL2-40D2 200 286 486

http://www.goldenhorn.cn/ 10



v
=Ry

, SEFHBA ©4008-270-668 28 S T 47FF B ) MHL2Z 5(® 10~ 0 40)

W SMERSTE(ZEX)
® MHL2-10D[

®3HY 3 R

3
o I e s e -
2 ——————t |
[ Y s a1 -4_. =
| 'r (D[
D” [=2] -
, ! —_ 2-M4x0.7TR GRS /
angg.uzsﬁa 4-M4 0. 748 &3R8 - -
(mRRE (REEE) NG
#18H9'3 " F1.5
BUEFRRER 4D
M5x0.8 44
[EXTFN) .,M.J
-] i el | | } gl
+ B4 : e o|?| e\ ERzIEE ;—E_E;“ i %I
— ] = N4t i 2[3 B
L) e
\—[ P'I s
7] . E 1]
10 H
*GF 10, MHL2-10D 38 | 36 | 51 26 | 56 | 76 |100| 24
; MHL2-10D1 54 | 52 | 67 | 42 | 78 |118|142| 39
EITTI LS MHL2-10D2 72| 70 | 85 | 60 | 96 |156]180] 57
®MHL2-16D[]
A
c 28
B $3H9 3
2-45.5 &
(RETL) |
‘ Q- - — - ==
T — e
------ A TE ===
Dﬂ ) o — = -
5 | N -
______ ; r """““"B' 1 2 2
| -t ¢ 2-M5X0 8EHET Lo | '
L -+ LY (RERL)
3HE ™R3 \_ 4-M5x0.888 4 10 AR L E
(BERE)
b 23HG s :ﬁ1_5
MS5X0.8 M530.8
ETTER)

¥ HEFELRE 4
TEEFIL 4-M6 %1 2
G /

H

(HERRE
T HE 55
6.5 226
Z,1/ I/ 2 .
B ﬁx}_L E(g@" & o] ! I %! e
&. I — L | | o PR minI L @F 2
| e A s = 7 =
[E——— [ | H ! N~
| ‘ E I':] \L/As_, E
® C: ® et
L | Y, A
9 . E 9, 25
- £t L 43 MHL2-16D 40 | 45 | 60 | 28 | 68 | 98 |128| 26
L AMSKOBEA, MHL2-16D1 70|75 | 90 | 58 |110[170|200] 50
(FIRRRBL) MHL2-16D2 90 | 95 |110] 78 |130|210|240] 70
11/http://www.goldenhorn.cn/




3

, =Y

, S2FgBi (©)4008-270-668 ERSIN(FATIFAE)MHL2R (0 10~ ©40)
@ MHL2-20D[]
A
g
B b 4HGIT030 g
2-6.6 2 ol
=R
] J) =
X 3
N K b o 5 I —
LF 5 /,J/l L]
|
Jf 4 A =i - & i
— = 1 N o
I 4-M6 X 148 5 R12 2-MEX 148 HRT D 2 4
4H9 3004 (RREL) (ZagAl)
$27HI "2 515 .
AR L E
M5x0.8
oo s FHEFL
. AT A (4
FIRAA\ . 4-MBx 1 i
CGRERR&
H 65 Fasn 28.2 "\
E kil
— = — —
i : @\ A ,/@ = o= E[ = R Z 2
- i 7 M7t ‘%ﬁ/ pY 5
| | A o g0 L L
f— | o | et @) @@j -
i T = i
I I A & = =2 =
i ! ! i - =
| ! o a Pant
L I of [ MHL2-20D 54 |58 | 71| 38 | 82 [122/160| 32
s | e o o MHL2-20D1 96 [100[113] 80 [142[222[260] 68
iz FF 17 54 MHL2-20D2 116[120[133]100162|262[300] 88
/ A-MBX i 7L
(FREREL)
@ MHL2-20D0]
A
c
E b4HY 9% 54,5
Eoa
209 o
(REFN o
] S i
— i
] \ K\
= A g — d b p
N/ -
1 | 2-M8x1.258 4 57/ D o =
— S——=— % (RE®TL)
|
- i 4-M8x 1.2648 &1 16
4H8 5P TR4 (REEL) Al iR E
$32H9;" %% 51.5
& 4-M81.25
(EEMRE  HMUEFRBLEH 1)
M5x0.8 F®ST)
—— (FREFIL 76
: 33.2
(FHEMAL) H 6.5 | / T \
== AN 7 ] g =ik Y|
i Le b () gc_sl T 3 i
% = 2 ! .- o ﬁ i&%ﬁ L \|t4} e g
i = o 3 il
L j . g
1 i
gH | | [E{ oo _
[a] | HLE 14 40 MHL2-25D 66 | 70 | 88 | 48 |100|150|196| 38
= #E = —— MHL2-25D1 120124]142|102[182|282|328] 86
NETTTTERY MHL2-25D2 138]142|160]120/200|320|366]104

http://www.goldenhorn.cn/12



x, V o}
=
¢ aIN 3

=

IAD SHOU

® 4008-270-668

BHRSN(ETFAR)MHL2EFI(D10~D40)

® MHL2-32D(]
A
!
C
B ] 6H9 DDSD::%B
/ E
| 1 i i o
H i
-E - - — .
B ++T's—+— ] | I—
L | - , 4 3
SHBEQ'““;?SM —l— 4-M8[;1%2:;§§$13 . ™
e 2-MBX 1.2548 &5 T 1
¢ 3ISHI " UHE2.5 (BRERTL)
AR 1A
Rc1/8
Rc1/8
il \ G CFEIAD BT EREE 4
H 4-M10x1.5 82
32.2 /
| W] @ P S 1
®-¢= © i
I | | z jgﬁ | @ &) ::
i 8 8 A !
: I i ! 5 (471) Fai) ((}\\J [
S ot P 8 L]\_;f O“J-\ o
o ' | [ o = I L
e Hitl?
:—' - ©| o] & (L: L=
L i HE = MHL2-32D 86 |110| 60 |150(|220(272| 56
LI : 15 50 MHL2-32D1 134|158|108|198|318|370[104
24| | FF 24 70 MHL2-32D2 178|202[152|242(402|454/148
4-M10:<1.5:8 7l
(FEREEL
® MHL2-40D]
A
o}
B & EHG 00 g
// @
N Lo P N
1
i s D ¢ P —
i < L = [
_— b—+ 1:_ $ 0 g =
s 2-M10%1.588 40§12
BHg‘ﬂDSO:‘ﬁa o
: " 4-M10X1.588 41 520 (BB
(REET) ABLE
$40H9;" g2 5
G MUEFLREE )
Rc1/8 H Rc1/8 2-M10%1.5 98
( AT (FHEAL
FiEA o T ._.]40-2
—— — RN :
i 9\@ \_]'D((@ I #t '\é—;'i/
|| [ ] — aletd A
i g HN
) ™~ 4
13
ha ge 18] \2Mi2x175 | —88—
= fek . L MHL2-40D 116|148| 80 |[188|288|348| 72
(FIREZHL) MHL2-40D1 174|206|138/246(406|466/130
MHL2-40D2 214|246(178|286|486|546/170

13/http://www.goldenhorn.cn/




1’ i

A
v

%Ex ®©4008-270-668

JIN JIAD SHOU

RS TMHF2 R 51 (D 8~ ® 20)

B REE

#I12(mm)

ERRE EE(RLAH)

1 E /135 E(MPa) 0.15-0.7 | 0.1-0.7
IR FN R AR IR -10C~+60TC(E R E L)
EE R (mm) +0.05*

& & fE A3 (c.p.m)

EiTIE. hITIE: 120; 1T 60

*SMHZ2Z 518tk , BELA4EE/M/3, :ﬁﬂzﬁit WAEF
FREZE, HEEENHERN, SN FENEREENN) 19 48 90 141
TE RN, WEEES. Fr AT RE(F ) (mm) 8,16,32 | 12,24,48 | 16,32,64 |20,40,80
BTEENFAARBERK, B EW. ERTREM, THIEERE, ATRBOENE, BA%0.15m,
*EF1:40.5MPa, 3# &8 H20mmed,
W BrfsS W ESETRAE
MTH ] MHF 2 —@@ —[M9B Q
L] 2ntj B FF 18
WIEH xieg| 24
H1Z i
_8 [omm __17# H M —
.mﬁﬁ%ﬁ% 12 [¢12mm FiLs| BT mm g:ﬁ—t Eia FREEFF L
W‘“ﬁmm FfTIE T i M B HT
,:::;ihlgi(;;M:Zf:;:?r{w 720 $20mm 2 | g ZinS| AT HUEFEHSERAR.
% 32-0.5m L-am.Z-5m, o - R |EEE
. ManL
W MR TE(ZXK)
MHF2-8D - 8D1 - 12D 2_Esmu xS
ZEREY
Q
" | R
B ' . LIt s "‘%f\é%
B | o =8 = ] ix iR
| " | ¥ I
L*() | ¢ - = f\é_ e @ &— 1 _‘@“T i
| "4 TJ, .\1 =/ --JIJ»-- ‘
| — S0 3 I = e-vERLEEATL
! ; |I | : . 2-2
L |
& " FEFEQ s qam;aiju v/ u e
\e-Eaime L wRELBILMEA
R Fuy R0 R 0 95 P 9 4T
4-M3 x 0.558 6L R4 a
REHGE 4-bif 6l Bd
2-ESIFS —
ABBE RERELK o & i o i
5 '[ — l %”E =
5 & o =
| . i .
T Jre__ & BES MR RE)
R
e A]L 2-i
f f

MHF2-8D 1B(425H9*° 025(25( ¢ 25H™* 22| M3x 0.5 7 | 3|28.33.432[15.8 M3x0 5 17.4'0:|5.014(19]36|22|4 [12| 0.8] 821 [ 11| 11 [0 26 6 4.5|14|M2.5x0.453| 6 10[ 12|26 |6 2H8 *2%°| 2 |p 4lM25x0.4515
MHF2-8D1 2&!@25H9'°§2525 $25HT %5 M3x0.5| 7 | 3(40.3(3.4{32|15.8[MIx0.5[17 sy 5.0114 | 19(48|34 |4 12| 0.8[16:1| 11| 11 |4 26| b 45|26{M2.5x0.453 7|11] 12264 2H9 " 2% | 2 ¢4lmz.5xu.45 15
MHF2-12D 6] 3Ha "0 | 5|y aHe™ 8™ [wexo710] 4] 42 | 4 |40 20 [wsx0.lp0. v 7.7]15] 25 s0]38]s 18] 1 |12s1] 15 |1a.8]9 3] 4 5.5]28] waxos |a]o]1a]15]as]s25n8" > 2.5{p 5| maxos |20

http://www.goldenhorn.cn/14



Ll =i
EEEX ®©4008-270-668 RS TIMHF2 R 51 (© 8~ © 20)

3 JIN JIAD SHOU

MHF2-12D1 - 16D - 16D1 - 20D - 20D1 MHF2-8D2:12D2 - 16D2 - 20D2
&
A
a ARRE AA AA AA
2-Hif & RS
B EEYT T i
—r . [ ] [ | i
A U H
© & & & G ———— ]
& =
4+ + - L] i X
: |
' i-Hﬁmﬁl R B - &
E F G REREY
L a cc
= 4 1 B 2-H#g &I FS DD
K »
"—“ Rk L E| |/Z=mRa
L - ; il == ==
=) —T*”&“QZI ¥ i3 3 U | ™ + y
i < & @
— = & i ' =
4 | | 11
H ‘ I g 2-VilRFLREANL)
/ M |-E- ez EE v v EE
I U u
% L - 5 - B E-E Gilislohr
FWAAO il AR AN, FEFE
Fhw | Rz P B RS ) 7 78 44T
8-bi 5 Rd GG
’ . A-HEZ@RS a |
BOBYRERTHE %ﬁmm&t\r—1 JBRERRRE !
T I}
L7 1 id < - I e
| b &1 il 19 & / @__l@_@ @_@l &
— . -4 @] < 2/ |
Y o |1 N
- g g 3 It 4 o m fa) &
ol - = O i > HES Mk RBIHREL) HH il il HH
' \ 2-ij
e i f e *REMARTSREEDIRTIER.
]A *REMARTSREEDIRIIER.,
(o = G
MHF2-1201 42 [p 3HE' 0050 3 |p3HO0o 4| 58 | 4|Max0.7| 10|40 20| Msxas| 20 %,| 7.7 [ 19|25 68 |54 5 |15|21| 1 | MHF2-8D2 17|64.3|72 |58 18(32°|50| 8 | 5
MHF2-16D 38 p 4HO2.030) 3 |p 4HB0.030 6| 57.5| 5| M5% 0.8 12| 50| 26| M5x08 27.5.|10.6 | 24| 33| 72 | 52| 5.5 |20 | 25|1.2 | MHF2-1202 26| 94 [104|90|27/|48°|80|18/4.5
MHF2-16D1 60 [p4HO'000) 3 [p4HO000 6| 79.5| 5| M5x0.8( 12| 50| 26| M5x08| 27.04(10.6 (24|33 04 | 74| 55|20 | 20[1.2 |MHF2-16D2 36[127.5142[122] 37|647 106 26(5.5
MHE220D 38 b 5HO000) 4 (5HB0usY 6| 71 | 6| MEx1 |15|62] 33| M5x08| 45 8| 13 |30|41| 86 | 56| 6 |25|31|1.2 |MHF2-2002 42| 159 174[144) 4680|124 30| 8
MHF2-20D1 66 P SHEFO00) 4 |95HB-000 6 99 | 6| MEx1 |15 (62| 33| M5x08| 4, 0 | 13 |30|41|114| 84| 6 |25|36[1.2
=5 d
MHF2-1201 247" |14.8| ¢34 | $55 |44 | M3x0.5 | 4|12 |4.5| 15| 33 |$25H9 ™| 25 | $5| M3x0.5| 20
MHF2-16D 16" 20 | ¢4.3| $75|36| M4x0.7 | 4|15 | 5 | 20| 43| ®3HI 7™ 3 | ¢5| M3x0.5| 20
MHF2-16D1  32°'| 20 | $4.3| 675 |58 Max0.7 | 4|18 55| 20| 43| #3HOT™| 3 | ¢5| M3x0.5( 20
MHF2-200  20°'| 25 | ¢52| 10 | 40| Max0.7 | 4|16 |7.5| 24 | 52| $3H9T™| 3 | 45| M3x0.5] 20
mHr2-2001  40°'| 25 | 52| 10 | 68| M4x0.7 | 4|20 | 8 | 24| 52| $3H9G™| 3 | #5| M3x0.5| 20

15/http://www.goldenhorn.cn/



o

L =

© JIN JIAD SHOU

®© 4008-270-668 S (1T F B B /B A B TAEMHS 2% 5(0 16~ ©63)

08

| EEE TS

MHS2 - [40] - M9ON [ |

2
e BT £ Y
16 | 16mm Tine| 24
20 | 20mm s T
‘-S‘Giﬁ'r- 25 | 25mm WHELRE
Hpplbos
Ny e . NE.. L. 7% | mMEFx
40 | 40mm
50 | 50mm
63 | 63mm

MHS2-16D MHS2-20D MHS2-40D S2-50D MHS2-63D

MHS2-25D | MHS2-32D

ffEmm 16 20 32 40 63
1 e =5
1 AEN G 0.2-0.6MPa | 0.1~0.6MPa
IR BN KR -10 ~ +60°C
BEERE +0.01mm
BEDERE 120 c.p.m. | 60 c.p.m.
pren THE
ERR WAEH
i) EFHFAN ShiE et 21 27 63 111 177 280 502
EH0.5MPa Mk 23 42 71 123 195 306 537
FiFTHEmm 44 4 6 8 8 12 16
BEOE M3 x 0.5 M5 x 0.8
Bt £ N R A
HEHFLRE MIP(V)MIN(V) MIB(V)
) EESEHAESS, 016-025MRHAERL-20mm, ©32-063M X AERL-30mm,
FIRENUSKTHAEELSFMMNBHAXNTEKERT ( RES-05mL-3m) #: MHS2-16D-MINL.
| B2
xS B30
RITE (R
1
3 o1 15 | SR | PRSI
\\P/Z—r T
—H
L L
SEEERE L: REEEE MEEFRE
MHS2 16D MHS2 20D MHS2 250
20 ] .1[y| k‘l-nn! L A, aglice LU - sin" x,.lvc:':
*_‘__‘6 — 23 80— =
£ 20171 L] e oy il Z ol *
g =1 [ P 2 = S g 0 =l ety
LR e e e ] [ L e e = & =T MHS2 50D
0 5 10 15 20 25 30 o 10 20 30 40 o 10 20 30 40 &00 L _‘!"'""
EFHLmm ZEf4ELmm Z M Lmm ! ii
MHS2 32D MHS2 40D MHS2 500 H20 G
R ﬁ__s*:“ gl'tnj 280 n_,_ﬂ____jin :mucw: o -H_\___H__; ‘!],,mlz b %
;ezo =3 Etuu —1 15 I E.iuu 1] =p BREE Lnm
= g0 Z 150 — . L
£ sol——=——=2l 1o s B O
& 2 [ —r—t— 100 -
3o El 50 ——__ﬁli '—-'—r—h—_.,‘
0 10 20 30 40 50 0 10 20 30 40 50 o 20 40 60
BHUE Lmm BHEE Lmm BHEE Lmm

http://www.goldenhorn.cn/16



o
; S2Fdol () 4008-270-668 S(FAT I 6 B /B A B TUAMHS 2% 51 (0 16~ ©63)

W SMERSTE((EX)

MHS2-¢ 16
35 =5 11 7
b2dps g M3x0.5F 7L
a az g ’g
& |E
] J % ] &
Ll g N [ -@K
L o i = —
e O N, 2-M4 x 0.7dp8 —
“‘&1-39)“/ 2 M3 0.5F 5 M7
= 3 11,[, 125 4 25
A 3
4-M3 % 0.5dp5
MHS2- ¢ 20D
2- 347
$6.50p9 5L
a8 4 13 .7
M5 % 0.8F 4 T 7L

Y2

| &
= . o :
i al I\ !
ik .
=
= —— L 8 s LT g{“’ -
g |N_2-Mm4x0.7dp8 =

Fei: 16
Ak 12
i

18

mz,l_._

[~ M5 x 0.8F 35 7L
=) 3, 13 |, 145 5 27
4-M3 x 0.50p6
MHS2- ¢ 25D
2-p3 487
¢ 6.5dp ORI
25 40 15 .7
! 8=
i — M5 x 0.8F #RFFL
g ’L -
L @
2 i ;
g K i o 941 @
= N fud J_‘
L] % 2-M4 x 0.7dp8 = =
0§ 208 2 M5 x 0.8 M7
5 145, 17 5 28
MHS2- ¢ 32D
2-p4 587
$8dp
‘_iﬁ__.. 44
3 41
f? M5 x 0.BF i FF 7L
SYZa RN \ S
\
tss- e | ‘
e @D
i )
1| L i
1 . MEx0.8FRATL
4.5] |11
Fret: 64 @

M#t: 56
4-M4 % 0.7dp8 |

17/http://www.goldenhorn.cn/



o
; S2Fdol () 4008-270-668 S(FAT I 6 B /B A B TUAMHS 2% 51 (0 16~ ©63)

W SME R~ E(ZX)

MHS2- ¢ 40D

2- 4557
N 495009 WA

M5 x 0.8F 45 FF 3L
| x0T RS

2 I E e
g |14 N 4-MBx1.0

o
L= ©
R
b
\2-M x 1.0dp12 M5 x 0. 8F AL
Mkt 62
4-M4 x 0.7dp8
MHS2-¢ 50D
4-95. 187
¢9.5dpl2§’:gﬁn
52 . »
3 52 ‘
| Sl M5 0.BFHEFFIL
‘ E[E
| K |E
1 o !
b ¢I I ¢E t 4 I I'} ,‘:_'I
[ / L.
Ty i K
3 i:L @\
2, d

I, BFEHEATL
= 200‘293 dp12 M5 = 0.8
: B2 X 37.5
g: 70 \ 6, 28 31 &
4-M5 x 0.8dp10
MHS2- ¢ 63D
4-$5. 187
4 9.50p14R I
66
66
ﬁ/ 66
B2 T4 4 62
4&'{ M5 x 0.8F #EFF 7L
s -oHe-+-ReEd
4 o
1 | e CYSPER o w
A L b §
5.8 |17 L
B 102
Het: 86
4-M5 = 0.8dp10 oo M5 x 0.8 i H 7l

http://www.goldenhorn.cn/18



EFaf
23BN (©4008-270-668 SIN(FEATF AR/ B TEMHS3 R 5I(0 16~ © 125)

© JIN JIAD SHOU

s

| EEE Sk
MHiaT- [40] - MON | |

3
g —— MR LAY
16 16mm a =
e 2
20 | 20mm B
25 | 25mm 8 ¥
82 | 32mm__ HWHEAXUS n nf
40 40mm —
50 | 50mm FiES | REEAx
63 63mm (P B REER)
80 80mm
100 | 100mm
125| 125mm

| Eo-Ek

= | 63 | MHSI3-80
AT f2mm 16 20 25 32 40 l 50 63 80 100 125
& Ak z5
BREEHER 0.2-0.6MPa | 0.1-0.6MPa
B 5 0 -10~60T
HE +0.01
BREDIEHE 120c.p.m | 80c.p.m
il AEE
;MIEH WiER
Shizdd 14 14 42 74 118 187 335 500 750 1270
Ef‘oﬁﬂ;‘a R 16 28 47 82 130 204 359 525 780 1320
HH LSRR 9 21 36 62 97 155 280 400 - -
WH: FEREFETEMM 4 4 & 8 ] 12 16 20 24 32
HITEFHRTEMm 10 10 12 16 20 28 32 40 48 64
#EO&Re M3x0.5 M5 % 0.8 1/8 1/4 3/8
BMEEFxX 7RI E

) EHNEHAERD, C16-025MERSEEL=20mm., 032-063NEHABERL=30mm,. OB0-01250 FH AEEL=50mmiTHHHE.
F)RENNSKREAREUSEFAMMBEAXMSEKRT (XIE2S0.5m L-3m, Z-5m) #l: MHS3-16D-M3NL.

W s

KR JeE A
1
7 ¢ i [RY
\» : ]
T
. L
SERBRE MRS
L: i
[ Jopveitey))
MHS3 16D MHS3 20D MHS3 25D
T —T T
= B, wglien g: 8 an kies _| il ~ls B, kgliont
= —t—& =25 [ = "y —
z s z | Z a0
g8 =g ! o] I = R
£ 10 —— & 15 ——1 3 & =] 3
B [ [1T—1—-3 10 = ] I s
5 5 10 — MHS3 63D
: ==
0 5 1015 20 25 30 0 5 10 15 20 25 30 35 0 10 20 30 40 5O 509 T
& Lmm 1B it L mm s Lmm 400
Z a0 = 54
MHS3 16D MHS3 40D MHS3 50D £ 200 =Y
LY ]
. — _— — o
‘:: L[ s e ?:E B e 300 By tyhon? e [T
= - = [ 8 250 =T T& 0 20 40 A0 80 100
é 60 Y - é1213 %H:J f:: - Bt WL mm
40 a0 — i [
" 2 B "“% 100 —1
20 5 a0 S e e s0 :
0 10 20 30 40 S50 0 10 20 30 40 &0 0 10 20 30 40 50 60 70
Bt E Lmm Bt Lmm i E L mm

19/ http://www.goldenhorn.cn/



Lige
§ ERM
SIEFHBA (©4008-270-668 S (A7 7 1 BY) /B Ak B TUAMHS 3% 51(© 16~ © 125)

t JIN JIAD SHOU

W SMERSTE(ZEX)

MHS3-¢ 16D
6-M3 % 0. 58 LS )88
i a5
o5 S —
—| .
b M3x0.5F T | e i ;
“““ £|£ [J]
o] @/ = [ g
‘_.' 4 e
=]
@\ g 3= L] '
M3x0.SEHFR of [F= B
i.'- 4 25
3- ¢ 34BILIBF M 7L & 6558 M3 0 5METAS
MHS3-¢ 20D
113 x 0 S8R IRE
a8
i & Q.TI:'
o
M x 0 5F $57F L ez ﬁ
""""""""""""" =|& ]
HE @/ B pi: __________________ g
b
—= ]
s\ of A
l

M5 x 0.5F #FF L
g.L,,| sl 27

3- 4 34MALB RS 7L $6.5%9.5

MHS3-¢$ 25D

6-M3 x 058G IR

13 .7,

M5 0.5F T 7L

(\ M5 % 0.5F 17

h

3-p 4.5 FLH TR FL ¢ B0

MHS3- ¢ 32D
614 x 0. TERGLIFS 44 313 \‘;g_g;|
: s a.T‘4—_1q o2
M5 x 0.BFHF AL El
o [
- | @ - 1| I o ~

ol

z

'

]

al ]

M5 % 0.8F $5 7L &

gl
FrEt: 32
HEt: 28

30.5

#
p LT
=3

3-p4 SR FEYTL 48R 3-M4 x 0. THELR6

http://www.goldenhorn.cn/20



g
23BN (©4008-270-668 SIN(FEATF AR/ B TEMHS3 R 5I(0 16~ © 125)

t JIN JIAD SHOU

W SNERSTE((ZEX)

MHS3-¢ 40D
251
B6-M4 % 0.THEI RS 47 § 4R ,L——:
H 4, 44 ‘ \ 20
VE i
=
M5 x 0.8FHFFL
: A 22
eleg Ol ]
&
H @\ ] m._F /
o » 3
M5 x 0.8 i 7L ® ﬁf =

) : o ‘f&'n

: L.l 7 az i
e 3-M5 x 0.8 EIRT.5

MHS3-¢ 50D
251
6-M5 » 0.8ME R0 55 44 \‘gd___:l
: 3] 52 ! \‘gpdr,eog

M5 x 0.8F # FF 7L

Frog: 17

14
FrR: 41
HE: 35
[~
(=]
/@ T
21
4

‘ M M5 x 0.8 45 H 7L -+

= .58 I - .
[ a- ¢ SEAB TR ¢9.5F12 I T 3-M5 x 0.8 & 7.5

MHS3- ¢ 63D

B-M5 x 0.BEEEIR10 1] \ w8

' 4 62

= 22 12 B S 4
h H M5 x 0. 8F HFF AL a g
@ -~ H

4
t MEx0.BF HHFAFL @«

FFa: 23
|| ||5‘1:H~t:15
& 86

/

i 44

/ 3-M6x .05 %9

3
3-$BEMFLIFRS T & 11F11 ‘4

21/http://www.goldenhorn.cn/



TR
EEBK ®©4008-270-668 SIN(EFEATHAR)/EFRTEMHS4R (016~ D63)

© TIN J1A0 SHOU

P

Ef&mm

32 63
& R B
EREAEE 0.2-0.6MPa | 0.1-0.6MPa
IR i iR -10~+60T
EEWE +0.01mm
BEiEmE 120c.p.m. l 60c.p.m.
il HE
MiEHK WAE A
AN | Sy 10 9 Ll 55 g5 140 251
EH0.5MPa }W 12 21 35 61 a7 153 268
FRITEmm 4 L 8 & a 12 16
EEOR M3x 0.5 M5x 0.8
LS bk dn]
BEFENE MBP{V),MIN(V), MIB(V), FIBA Y69A,Y59A, Y508, Y69B. Y7BA YTNW

i) RBHEHNREH, 016-025MRBAEEA20mm, ©16- 0258k HEH HI0mm,

| EEE TS
B s

MHS4 - [40] - M9N

4 l
{2
16 [ 16mm MiEFXEE e S
e FicE| 24 \:- FiE-1
_20 | 20mm XiLS | TMEFE ~ 1 —
25 | 25mm s 17} | —
32 | 32mm L
40 40mm L: RPASER
50 | 50mm SEEFRE BERERE
63 | 63mm
| Egeiutey)
MHS4 160 MHS4 200 MHS4 250
T I
it [~ g BN kg « o] BN, hglien L wal] B, kgtiom
F— | ) 40
= AN ——_H-Hq B = ™ : —s F 30 i ! e
=) — z z — B
= —] 3 £ a £ [
£ 5 = L. £ 1 ———x o & 20 T MHS4 63D
® 1 ] o e O 8 = — :
A1 igtic
300 =
0 5 10 15 20 25 30 o 10 20 30 40 0 1w 20 30 40 e
A Lmm B4 HLmm 4 Lmm ks
g 200 =1
MHS4 32D MHS4 40D MHS4 50D ; _—
T T I I [ 11
Lo S == T - RS S| mn banew aH =y B kgiomt .
120 100 = ) -
s s 5 = 5 150 - o 20 40 &0
g %0 = £ ™ = —1— - oo 1 1B 440 WL mm
#* — #* - | #* - =
W 60 2 ® 50 2 & e i
—2] T T3 50 -
30 25 = t S
1 1
0 10 20 30 40 50 o 10 20 30 40 50 ] 20 a0 a0
it WL mm it WL mm 84 4 WL mm
£ £3
B S E R~ E(Ek)
- 2 ¢ 3.4if
MHS4- ¢ 16D $34m0 e

M3x0.8
L= o]
FRATL :JEJB .
=

(20 :’; 2-M4 % 0. 785 R8
A3 R0:5 3l 11 ] 125
FRAAL 1
24

= /ﬁi‘b 2R
(7Y

5-M3x 0.5 5% AL :

http://www.goldenhorn.cn/22



o
ERI5A ©4008-270-668

s JIN JIAD SHOU

ST CRATFF AL/ EAE R THAMHS 4 2 51 (0 16~ © 125)

W SN RSTE(ZEX)
MHS4- ¢ 25D

40

o

a7

2-p 4 .57

MHS4-¢ 40D
2- ¢ 5.5 FL

Fet: 74
M. 66
B-M4 x 0.7 5 R

MHS4- ¢ 50D

4-$5.18 7
| #9.50pi2@#AL
52
\ L -

hid
3 & 4
I

e Rl

o gﬁ/
\ lfl
AZR

. 86
Hrt: 74
8-M5 x 0.8 & iF1

MHS4-$ 63D
4-¢ 5.1 7

b 9.5dp12EEA
52

il

34

34

Hied: 74
B8-M5 x 0.B8R SUF1

23/http://www.goldenhorn.cn/

-] U

14

g | FFRd: 32,
I zz|

21

3

$70

4q| FFAt: 38,

24

4

P HARUIR




"

4\; JIN JIAD SHOU

%ﬁx ®©4008-270-668

SEi# A (+FRESH)/ T EMXS R 7

| EEEd
e MXS6 | MXS8 | MXS12 | MXS16 | MXS20 | MXS 25
6x2 Bx2 p12x2 p16x2 25x2
s EL{2(mm) (*E%foq:s) (#EQ-T-X@H) (&ﬁ%?@m (&ﬁ%?izm (YT $28) (&E‘é??ss)
{# A =5
;EAX WAEH
RaEREA 0.7MPa
R{EERERD 0.15MPa
I3 8 AT 4 47 7 4 B (0~5mm), e 10
SRR, o, Py il 10-+60C (1B kA 4)
HERTEAREE, ERERTEHM, ifh 2E i 50~500mm/s
A+ FEHEMET, ERAN, S& - —
EIfazARESHESL, BAGRTEE, G B E W (FR )
A= EEE. 3
HEMEL, TEEREFEL, el ARE
BEOR M3x0.5 | M5 x 0.8 [ Rc1/8
Wz M, #AET12HISOVG32,
g FRANEE
(mm) 10 20 30 40 50 75 100 125 150 (T g | At |ShisEE AR
MXS A93(V)
37| A9B(V)
MIN(V)
MOB(V)
MOP(V)
FONW
$20%2
$25%2 —
0Oz — = A B
BMFENY W SEKERTIZS:
ﬁ[?z g fiE"':s—' 2/|\_ %E"?—O.Sm,L—Sm‘
AEEE =iy s | 14 . A96, A96L
Zics| X IhEERTIETR n n
AS 'F':Hi‘a‘éﬁf% xics ;ﬁﬁgw B FEH@E
AT | SINE E : Fine| TR £
A | mikimE R AR WEFXUSBR LR
*BS | BIimTIELE HEE P e
BT | BlGEEME  FR | HEEER R
*B | T R S FP HEMEE PR EEE
*MXS6F M FE S *MXSEF i izt
OSHARIERES e SEE. BEIMMKA
L
= BRERNEE WHEHELT
i3 SHiRs
SmEE MXS

—— B2

s

[ P

http://www.goldenhorn.cn/24



&
| %EK ©4008-270-668

t JIN JIAD SHOU

SR A (+FRESH)/ NI EMXS R

E2 SMEE: Ln(mm), AEPOEEEBEEEME: An(mm)

B ShfHEE: Wikg)

bw i 5 N5
éO Q
[o][e;
i
b
@]
8
$w = .
e
H3 THRRRRK g ~
RERAL ", oy
4 : §
8]
[ <
_ EAHE: ATEHFEMN
HENE: REBZEN, AFREFENIE

B4 AFSTAHERERN: B

FEEimR _ o1
h % E 2B h 58 - N
MXS6 0.018 = ﬁ 0.7 N
1:1 MXS8 0.027 0.045 "
MXS12 0.055 0.11 g O-
MXS16 0.11 0.22 o4
K=0.6 MXS20 0.16 0.32 £0.3
; MXS25 0.24 0.48 o
E2BARARTFABBEE:Wmaxiko) w7 s BB EE: An(mm) %oa
Eij\‘.jﬁ]g%cpﬁﬁ,kﬁ j]!k‘ﬁqjil:,“fﬁﬁﬁg ]
migg 0.6 A1 | A2 | A3 50 100 200 300 500700
iiiEi3 ; MXS6 11| 6 | 13| 16 | 16 | 6 FHEE Vamm/s
e ; MXS8 11 | 7.5 | 13 | 20 | 20 | 7.5 M5 ##HERE: v
MXS12 24 | 85| 26 | 25 | 25 | 8.5 .
MXS20 6 MXS16 27 | 10 | 30 | 31 | 31 | 10 : =
s 9 MXS20 34 |14.5 36 | 38 | 38 [145 | . o7 X
MXS25 42 | 19 | 44 | 46 | 46 | 19 B
®4 J/ALIFAHE: Mmax(N - m) = 0. -
@ 0.
=
£ 0.
MXS6 0.7 1.0 1.2 1.2 1.2 = - - = 8
MXS8 2.0 2.0 2.8 3.6 | 4.2 42 - - - 0.2
MXS12 4.2 4.2 4.2 58 | 7.0 | 10.0 | 10.0 = =
MXS16 11.3 | 11.3 | 11.3 | 11.3 | 15.9 | 25.0 | 34.1 | 34.1 - g 100 200300 SOG700
MXS20 19.4 | 19.4 | 19.4 | 19.4 | 27.2 | 35.0 | 50.5 | 50.5 | 50.5 RSRE Vanis WV ros
MXS25 30.6 | 30.6 | 30.6 | 30.6 | 42.8 | 551 | 67.3 | 67.3 | 67-3 i mashelue, EREHEE
HENEE N, ERGERE
LS &
i2 8 E X Y s EX By
An(n=1~6) HhER LI EEEEEE mm Va T mm
E e J w EhANAE kg
Ea V3 8E J Wa AEERANER | kg
Emax ﬁgfﬁﬁﬂﬁ’é d We N ERE kg
Ln(n=1~3) = mm = ;
M(Mp,My.Mr) BENEBENE. BENE. BRNE) N Mok SARFNGRORE] kg
Ma(Map,May,Mar) AGBBNE(EEANE. RENE. BN N-m o __RaE -
Me(Mep,Mey) DENE(EBNE. BRNE) N-m B AARPABRERE| -
Mea(Meap,Meay) REDENE(EEANE. BEAE) N-m # RENERM =
Mmax(Mpmax Mymax,Mrmax) @ 515 146( i H46. B NIE. BI51%6E) N-m 5 ERY -
v h o mm/s K THRERE -

25/ http://www.goldenhorn.cn/



Y

1

v

%EX ©4008-270-668

JIN JIAD SHOU

SR A (+FRESH)/ NI EMXS R

W S RSHE(ZX)

MXS 6

2-M2.5x 0.4588 &0 R3

ey BEEOR:2-M3x0.5
2 |3 J 1.5 BRI0SERITEAELE)
o)
BN E 1B 2l
ey I jim - T E
9 u x 1 u‘SI
N
3|69 \
K 12.5 2-M2.5x 0.4548 &r |3
18 BSTREREE HEGRAERE EMTEAELE
2-M3x .54 4L RS : 55 3
e . { 4-M2.5x 045884IR35
W |l @ &5 }
i < &) !’ *!.’T\} &) - © ﬁ 3
o THOTPESTIE 2 g ¥
Bl & @ P
< = =
alE F § =
$3H9" %R0 5 " g u§-
R 11 (2—1}xF %‘: o
10 E’
3
" 5 M
o
2 H g
rd
ZZ
(NN=1)xH G
H
11 5.5
A B .11 5.5
| —T
44 WU
a4 N L@ ° 2 A L s
Y ., — N
HO— @ o /fv@@ —
NN-M4 x 0. 782 51578 —_—
LA . B
HEAA #HmEBB
N
MXS6-10 20 4 6 25 g 10 17 22.5 42 41.5 48
MXS6-20 30 4 6 35 2 10 27 32.5 52 51.5 58
MXS6-30 20 6 11 20 3 7 40 42.5 62 61.5 68
MXS6-40 28 6 13 30 3 19 50 52.5 84 83.5 90
MXS6-50 38 6 17 24 4 25 60 62.5 100 99.5 106

http://www.goldenhorn.cn/26



JIN JIAD SHOU

4
C ZmE
, SE2Fdol (©4008-270-668 SHBE(HERHSH) AT EMXS R

W SN ERSTE(EX)

2-M3 x 0.59 &7 K4

MXS 8
EEOE: 2-M5x0.8
8.2
8.5 J | 6 RRISERITEAEEE)
R 1 BT
9o 5 R
i 1 7\l 1 F
© o 1 A7 = ~ o
38l 7
" —_— *2-M3x 0.5 ELR4 “(ITHR75. 100mmA44-4E7l)
22 HRiTRAERE MR ERTERAEHE
2-M4 x 0.7 & 6 / N-M3 x 0.548 & i¥5
6.5 3.5
=P A [ 1 / £ 4 1] a-wsxosmems
- == i
& 3 o — -
= W7 PPN A B oo o & - o
2 s /f\‘f/ AN A RN e - L I - =
5 o = —t
olg = Y = i
[~ % -
g
&
12 F
(3]
b
$3HE IO Ra 12 (o-1)xF g
>
s of
oy
-
n 6 M
I
o
2 =+
o
z
2z
(NN-1)xH G
H
R 5 13 6.5 13 6.5

$3.2
[
J
$6.5
$7
[ Slles
—
47

4

®

@

®

®
Dl

NN-M4 x 0.7 &L iR8

>
o

HEAA i BB
N
MXS8-10 25 4 9 28 2 13 19.5 23.5 49 48.5 56
i} MXS8-20 25 4 12 30 2 8.5 29 33.5 54 53.5 61
MXS58-30 40 4 13 20 3 9.5 39 43.5 65 64.5 72
MXS8-40 50 4 15 28 3 10.5 56 53.5 83 82.5 a0
MXS8-50 38 6 20 23 4 24.5 60 63.5 101 100.5 108
MXS8-75 50 6 27 28 5 38.5 96 88.5 151 150.5 158

27 /http://www.goldenhorn.cn/



\@

, SEF3BA ©4008-270-668 SHRE (PR S REBMXSRS)
B MERSTE(ZEX) 2-Md4x 0.7 SRS
MXS 12 /
2,05 BEOE: 2-M5%0.8
4.75 J [ 8 BXM(ERITREBEERE)
R ™
.2 ity &
X E
- @ & ?
& EmEET
: 85
K i & 2-Max 078G ws " (TET5, 100mmA4 4R )
Wi HHTRAREE R—— ERGEAESE
ki / N-M4 x 0. 748 41 5.5
fia) . -
& £ ] 4
J : =
& D g 4 gt % g
= 5B @ l’ (o @ @ o =
K g B ke hd ¥ MY 9w
| LB Pl :
2|& =
Fan W ny %
I .
N 16 {I;—i}xF ;‘:
16 b 4H8 " 7 R3.5 &

0.5
w
w

uy
& % = Tl 4-M4x0.7HBERG
Z S
zz ]
e i_,:% d
(NN=1) x H & ® .
H el
LA B @ = ¢
i —] e
Hzm:-'\ £ A Ty A STy Fant = r]—f’\—J
EW\I w ‘q/ w \JW A"
1 [
!
18,5 8.5 185 8.5
| A LB
| UUT
(mm) o Ay i Tl R
- : b PP Ay P4
MXS12-10 35| 4 | 15 | 40 | 2 | 10| 40| 26.5| 71 | 70 | 80 t } }
MXS12-20 35| 4 | 15 |40 | 2 | 10| 40| 36.5| 71 | 70 | 80 i ﬁ§§
MXS12-30 35| 4 |15 |40 | 2 |10 40|46.5| 71 | 70| 80 |
MXS12-40 50| 4 | 17 | 25 | 3 | 10| 52 |56.5| 83 | 82| 92 /_*
MXS12-50 35| 6 | 15 | 36 3 | 22| 60| 66.5/103| 102 112 NN-MS5 x 0848 LR 10
MXS12-75 55| 6 | 25 | 36 | 4 | 43| 85| 91.5| 149 | 148| 158
MXS12-100 65| 6 | 35 | 38 | 5 | 52 | 130|116.5/ 203 | 202 | 212 HEAA EiEBB

http://www.goldenhorn.cn/ 28



1 =g
¢ TIN 210 sHou

W S RSTE(EX)

ERI5A ©4008-270-668

SR A (+FRESH)/ A EMXS R

MXS 16
2-M5 x 0.888 41 5.5
3 1 B2 2-M5%0.8
5.5 J \ | 10 BK13.5(RHITRAEEE)
© — \ o
L7 pely
o i & [
A= & 0
| A I l i
Y Y YK |
5.5| |10
*2-M5 x 0.882 41 iR5.5 *(47#275, 100mm, 125mm34-~427)
K 21
2=M6 x 13 5110 RnTEIEEE -
37.5 MIEITRAEER BEiMiTRARERER
/ N-M5 x 084§ & F6 8
6 4-M5 x 0. BRGRT
é i & e =i=a :
O = |12 i =5 |8
2 IS ® S E—rh—t & o 2 !
}E; £ f¥  PERY H %
& 2lg Vo & & 1 | &
o ¢l
20 H
F =+ o
/ B
$SHO'S™ ®a /| 5, (§-1xF A
- b =
w
(NN-1)x H a
H b 10 M
LA }__B
M S b=
[
el S W -5 S Pany 7
| Y N YN YWY o
'|— zZ
[
7] |
}
A F—B L 24 10.5 24 105
1
(mm) L: 38 5 E -
‘ ] = o
RS 3 Kphil 2g KPH| ¢
Mxsi6-10 35 | 4 | 16 | 40| 2| 10| 40|29 | 76 |75 | 87 I I
Mxsi6-20 35 | 4 | 16 |40 | 2 | 10| 40|39 | 76 |75 | 87 69 @ B
mMxsi6-30 35 | 4 | 16 | 40| 2| 10| 40| 49 | 76 | 75 | 87
MXS16-40 40 4 16 | 50 2 10 | 50 | 59 86 | 85 97
mxsi6-50 30 | 6 | 21 [ 30| 3| 15| 60| 69 | 101 /100 | 112
MXsi6-75 55 | 6 | 26 | 35 | 4 | 40| 85| 94 | 151|150 | 162 NN - AR R 12
MXSi6-100 65 | 6 | 39 | 35 | 5 | 55| 118[119| 199|198 | 210
MXS16-125 70 8 | 19 | 35 7 | 68 | 155|144 | 249 | 248 | 260 HEAA #EBB

29/http://www.goldenhorn.cn/



1'*0

3 JIN JIAD SHOU

W SMERSTEEX)

MXS 20

13

%EX ®©4008-270-668

SR A (+FRESH)/ NI EMXS R

2-M6 x 1441 iR6.5

EE D& 2-Ac(PT)1/8

\

HR145(EHITEARER)

6.5 T
- \
— ] _r‘\T )— ml
hvy =4
AEEHE] <
Y
} SO H—F
Lq_ \__Bj g[

6.5

25

M
[T

Hin{TREEEE

*2-MEx 18 5 6.5

* (718100, 125, 150mmb44 485 )

6-M5x 0.888 4 iR8

i i ™\ =
ak - = T
] ()] I o
g ﬁ ) w
9 e F. ¢ e = ® ]
gg . NG 8
8 o ' Ane—
/ 25 g v
$5H9 % 5/ N g
(N-1) xF ?
/2-M6x 19 5 13 = 2= z
(NN—1)x H e
H T 13 M
A B =
ﬂ:mn P B Q 3
D000 —o——
o fH
1_} || Z
¢ A B
Let2 L= ZZ
(mm)
29 i
B FIFE| N|]G|HINN] 1| U] K| M 7z || o= | _”5
MXS20-10 50 | 40 | 4 | 15 | 45 | 2 | 10| 44 | 31| 83 | 815 | 07 }“u{ ¥
MXS20-20 50 | 40 | 4 |15 | 45| 2 | 10| 44 | 41 | 83 | 815 | 97 5 f}i s
MXS20-30 50 | 40 | 4 [ 15 [ 45 | 2 [ 10 44 | 51| 83| 815 | o7 e
MXS20-40 60 | 50 | 4 | 15 | 55 | 2 | 10| 54 | 61 | 93 | 91.5 | 107
MXS20-50 35 | 35 | 6 | 15 | 35 | 3 | 10| 69 | 71 | 108] 106.5| 122
MXS20-75 60 | 60 | 6 | 19 | 35| 4 | 10| 108 | 96 | 147| 145.5| 161 J
MXS20-100 70 | 70 | 6 | 37 | 35 | 5 | 58 | 113 | 121 | 200] 198.5| 214 NN-M6 x 14 6% 12
MXS20-125 70 | 70 | 8 | 41 | 38 | 6 | 70 | 155 | 146 | 254 | 252.5| 268
MXS20-150 80 | 80 | 8 | 19 | 44 | 7 | 87 | 190 | 171 | 306 304.5| 320 BHEAA BB

http://www.goldenhorn.cn/30



=g
§ ERM
sSZ2FIol (©4008-270-668 SR A (+ERESE)/EMXS R

3 JIN JIAD SHOU

W SMERSTEEX)

MXS 25 2-M8 x 1.2588 G i%8.5

) EE Q& 2-Re(PT)1/8

o| 8 4 I 15, (BXIBS(EMTEARER)

& X l

R

L

16
oD

*2-MBx1.25@ 585 “(ITE100mm. 125, 150mmA4-8@7L)

8| |15
K 31
o N-M6 x 1B EIR13
. P HiRiTEAEEE [ =P ;
- % 6-M86 x 18 &L R10
3 o S
| 0@ g
. + i = 2
] g 5

[®
38

©]
|
WilmiTRAERE
©
I
:||.
|
|
56
92
AS(FIRTRAEZEE)
9
89

«
L
w6

¢ BHa 13.03 ‘Hs

4008

o

N -
-M8x 1.258 5L R15 30 (-1 xF

6H9

15

=

55
62

zZZ

T |
¢ e

$6.6

s 11
$12
'l\
ElE

812

(NN-1)xH G +—tF
T =
A LB [{Zgi (6,/
'ﬂ_
= NN-M8 x 1. 258 £ 5% 16
Ph e By BE 4
T HEAA i EBB
=
|
‘ N
(mm)
N

MXS25-10 50 40 4 22 45 2 12 47 35 92 90.5 108
MXS25-20 50 40 4 22 45 2 12 47 45 92 90.5 108
MXS25-30 50 40 4 20 45 2 12 47 55 92 90.5 108
MXS25-40 60 50 4 22 55 2 12 57 65 102 100.5 118
MXS25-50 35 35 6 20 35 3 12 70 75 115 113.5 131
MXS25-75 60 60 6 26 35 4 33 90 100 156 154.5 172
MXS25-100 70 70 6 32 35 5 50 114 125 197 195.5 213
MXS25-125 75 75 8 40 38 6 67 155 150 255 253.5 271
MXS25-150 80 80 8 30 40 7 82 180 175 295 293.5 311

31/http://www.goldenhorn.cn/



1’ i

v

=

JIN JIAD SHOU

®© 4008-270-668

SR A (+FRESH)/ NI EMXS R

W SMERSTE(EX)
F-HE SR

MiEFX(RET, HIEME)

LLL-~

7
BERT SR PR B
P-HmEE
M e
EEEHA
s R 4 ;
\r‘i‘@‘—é@‘— = L
- = ﬁ:@ 3

2-F
[
| % & i i
I @ : @ _ @ |
Bl r & =
B C
G
0 1 2-K
Vs
—i & . I Il _J]
4 ¥ s &
[¢ ¢ =l
@ @ 4 &
HO—O+—O—O—
e & %
, Fﬂ
]
1l.& ]
IME @
L el |
=]
= l = L
& s .
o9 4"
< E2 2
|

MXS6 24[10{28| 19|0.5M3x0.5| 22 | - | - - - - - - - - - - - - | - |-| 56 [M3x0.5/5.5(12{32|8|11.5
MXS8 30(12(28.5/22.50.5 M4x0.7 |22.5( 6.5| 9 39 | 44 55 | 73 | 91 | 141 = = - |M3x0.5| 10|15.5/3| 6.5 |M5x0.8|6.5)15/40(12/13.5
MXS12 38(16| 37 | 30 |05 M5x0.8| 29 | 9.5|10.5| 59.5 | 59.5| 59.5|71.5|91.5/137.5|191.5| - - |M5x0.8| 14.5( 20 | 3| 6.5 |M5x0.8|9.5/20(50|12/18.7
MXS16 48|20| 41 |37.50.5 M&6x1 | 30| 12| 13| 62 | 62 62 | 72 | 87 | 137 |185| 235 | - |M5x0.8| 18|25 |3| 6.5 [M5x0.8| 12| 26|62(12/23.5
MXS520 58|25/44545505 M6x1 |30.5 15 |15.5| 68.5 | 68.5| 68.5|78.5|93.5/132.5|185.5/239.5/291.5| Re1/8 20| 30 11.5| Reci/8 | 15| 32|76|20/29.5
MXS25 70|31| 50| 55|0.5MBx1.25/ 35| 18| 18| 76 | 76 76 | 86 | 99 | 140 | 181 | 239 | 279 | Rc1/8 | 25.5 35 11.5| Rci1/8 | 18|40|92|20|35.5

http://www.goldenhorn.cn/ 32



1"»«

Sht
, EEABA ©4008-270-668 SR A TFAES 5 REHMXQES
B SMERSTE(ZEX)
MXQ6 | MXQ8 MXQ12 | MXQ16 | MXQ20 | MXQ25
- $6x2 $8x2 $12x2 $16x2 | ¢20x2 $25x2
i (BT 68) |HBLF ¢ 1) (BLT ¢17)| (BT ¢ 22)| (184 F ¢ 28) (BT 35)
e 2 PIEH WIER
99]_)"1 BEEAES 0.7MPa
e @ >
e 2= @ wAREAEAD 0.15MPa
INE AR —-10~+60T ({8 F % 45)
9 E 50~500mm/s (& & PR {ir #§:50~200mm/s)
L) RIRER(RA). RERRE. To(& R REH)
RN, EE, W TR Z(mm) B
L ek LT LI Gkl FRE
:Wiﬂ%gﬁtﬁfﬁﬁxﬁﬁﬁi] #=EORE M5x0.8 ‘ Rc1/8
NEEEETR ek, i MBET12mISOVG32.
B iEEER
78 (mm) T It
10 20 30 40 50 75100125150 # E % W E B &1 & & %ﬁg gleglo|lo]
oW M s W MW MR iR W AG3(V) AS,CS o Bl ) B & O
MXQ6  MXQEL | 6 AB(V) AT.CT i3 | 10 X x * %
MXQB  MXQSL | 8 C MaN) AC olo| x| x| x| x
MXoiz Mxaizl | 12 MIB(V) BS ol x|lo| ol x| x
MXQ16 MXQ16L | 16 MRV BT o|lo| x| x| x| %
MXQ20 MXOEULE FINW B o x| x| x| x| x
MXO25 MXQ25L | 25 fﬂggié;fgggga] Oﬂ&‘{# xﬂ'\ﬁl’}%{#
O —
B AESKRHE T ERE
K| TRt E
MxQ [12]L]— BO/AS| [FR|—[MIN| | frrivivibatakiolg
G i L —ThEERME I Fi2S-0.5m,L-3m,Z-5m,
. e L S T I EA 8
Fic S-frAE R 35 T F . I LE ETTIEYS
L3 #RE = RS S B | Tt BEEED
A e P HEEE i
BS o[BI FR™ | b Rt
BT |FREENSIEE Fp | wumaANABOEE
o HiE  E2)FEATMXQS, )
c FiE WAL S ETiE =5 @an
1) 1E R FMXQ86, ik |ZEER & B E 51(MPa)
(mm) |#@ | (mm*) | 02]0.3]0.4] 0.5] 0.6 0.
SERITEEAS | 57 |11)17] 23] 29| 34| 40

6X2
¢ a5 42 8|13| 17| 21| 25| 29

| 101 | 20|30 40]51]61] 71
45 75 | 15| 23| 30| 38| 45| 53
| 226 | 45| 68| 90|113/ 136 158

$8X2

12X2
¢ g5 | 170 | 34|51 6885|102 119
fa | 402 | 80|121| 161|201 241 281

16X2
¢ 4 302 | 60| 91|121/151181] 211
o20xp 1| 628 | 126188| 251314| 377 440
g5 | 471 | 94141188/ 236 283| 330
oosxe 1 | 982 | 196/295] 303]491] 289 687

& 756 151| 227| 302/ 378 454| 529
)RS H H H(N)=FE H(MPa) x B EE#R(mm®),

33/http://www.goldenhorn.cn/



o

x !

& 1

fagk - WN)

%Ex ®©4008-270-668

JIN JIAD SHOU

SR E (EFRXELSH)/ A RMXQFR T

B 2 SzhifaShESEE(MAE )L AEROE B EEEMAN)
HEBE1(Z # N 4E)

h3E2 (i 5E)

D3E3(=% A E)

=

3 BERERN K

LIRS

==

K=1

K=0.6

=3
| 7
£ TR TR LI n TE) ik g - M h e b D - TR i 2
A 4t 1 Emax({J . . . o
3 %] .
T s e i B 1 AARFAKRM - b
A P £ Pl
U7 R e ARGRA R 1.0
L N
MXQ6 0.018 0.018 MXQ6 6 0.7 LS
MXQ8 0.027 0.027 0.054 0.013 LA 10 S
MXQ12 0055 0.055 0.11 0.027 RG2S 20 % 05
MXQ16 0.11 011 0.22 0.055 MXQ16 40 & -
MXQ20 0.16 0.16 0.32 0.080 MxQz20 60 kg
MXQ25 0.24 0.24 0.48 0.12 MxQ25 90 203
% 3hEPME EERIEIER: An(mm) 2
0.2
50 100 200 300 500 700

LR Va mmis

MXQ6  14.5 | 145 | 14.5 | 185 — | -]l -1 16 [135]|135] &
MXQ8 16.5 | 16,5 | 18.5 | 20.5 | 28 28.5 - - - 7 16 16 7 s
2 .

MXQ12 21 21 21 25 25 34 34 = — 9 19.5 | 19.5 9 B Ech#Fj]%E%ﬁ N |
MXQ16 27 27 27 27 30 33 42.5 | 42.5 - 105 | 245 | 245 | 105 1.0
MXQ20 20.5 | 29.5 | 29.5 | 29.5 | 335 [ 37.5 | 635 [ 556 | 565 |14 |30 |30 |14 N
MXQ25 355 | 355 [ 355 | 355 | 43 43 50 64 64 16.5 | 37 37 16.5 - 0.7 \
£ ¢ LB EAA2, Ad, A5, ABIEEIA =
F A BAR 415046 : Mmax (N - m) Y 0.5

= 04

o

£ 0.3
MXQ6 14| 14| 14| 28| 28] —| — | — | — | 35| 35 35 64| 61 —| — | — | — =
MXQ8 20| 20| 28| 37] 79| 79| — | = | — | 51| 51| 60| 69| 74 V4 — | — [ — 0.2
MXQ12 47| 47| 47| 72| 72|15 |15 | — | — |11 |11 [11 |13 13 | 4 4 — | — ’
MXQ16 13 |13 [13 |13 |18 |23 |42 | 42| — |31 |31 |31 |3 3 | H | M| =
MXQ20 19 [19 [19 |19 |27 |36 |84 | 84| 84|47 |47 |47 [47 |67 |66 | 75| 75| 75 50 100 200 300 500 700
MXQ25 32 [32 |32 |32 |52 |52 |78 |140 |140 |81 |81 [81 [B1 |110 [110 | 130 | 130 | 130 iR - Va mmis i ok B 0V mmi/s

o A T TS D

© #S it o 0 20

An{n=1~6) pIBs e AWy Ay e e mm 58 mm/s
E sik J W ik N
Emax Al ST ok ahiE J Wa A AVF N
Ln(n=1-3) NS mm We i frikE 4 B iy N
M{Mp, My, Mr) ik N1, 2, 3) N-m Wmax Fnl eiF N
Ma(Map,May,Mar) Al e ifErE im0, 2,3) N-m o fdfad —
Me(Mep,Mey) HENE 0,2 N-m B DRwidiIE £ =
Mea(Meap.Meay) af FeiFEha i (1, 2) N-m y Al i hiEF =
Mmax(Mpmax,Mymax,Mrmax) Al iRk (0, 2, 3) N-m K frak s R =
v il ok R mm/s

http://www.goldenhorn.cn/ 34



\@

, EEABA ©4008-270-668 SR A A ES 5 REHMXQES
B )MERSTE(ZX)
AR (MXQ6) 2-M2.5x 0.45@ L F3
S0 2-M5%0.8
2 6
8 J | 6 BR10GHERATRER)
Bk & 14
=iy L uy
3 = el - N
19 5@ MKETRER) RTRRTIY 43R5 ETr— =
4 FHAITRLE
o = Iﬂ‘ —]K
l i ogﬂ 1
[ o | [ , = o =
ERCY 3 |1 B ]
00 P A — O 5§ G\
Pk = @ < ©
4 = L
L2 ?; 2 " 4-M2.5x 0458 51iR3.5
3-M3 x 0.588 41 R5 E iﬁ =
11 (%-ﬂxl‘ “
JEALE MXQ6-30
5 M 20 16 13
4-M2.5x 0. 458 5 W2 .5
K 12.5
3 6.5
@ 0
[=] o | M
" o—¢ JHH
g g & = 1.7 ; o
; &0 @@_(J 8%
z —
zz L—
(NN=1)xH G
H
A ’__B 10.5 5.5
%;» ~ g ‘J[:W c|g ~
= = - ;-{—:}—_\ - o
JE@{}@ Rty @ o ===l
& of & '
:_ - ,.Eg "!_'
i G ' [;]
& LB 2
4
3HO' ™ R2.5
L3 HA GA ﬁEBB
I\ |
MXQ6-10 22 4 6 23 2 13 16 9 17 21.5 42 41.5 48
MXQ6-20 25 4 13 26 2 13 26 9 27 31.5 52 51.5 58
MXQ6-30 21 6 - - 3 29 20 9 37 41.5 62 61.5 68
MXQ6-40 26 6 11 28 3 39 28 16 48 51.5 80 79.5 86
MXQ6-50 27 6 21 28 3 49 28 9 65 61.5 90 89.5 96

35/http://www.goldenhorn.cn/



o

1y

v

ERI5A ©4008-270-668

JIN JIAD SHOU

SR E (EFRXELSH)/ A RMXQFR T

W SMERSTE(ZEX)

FiEE(MXQ8)

HSO2-M5x0.8

2 .7
3.5 J 1 8 BR(HEEIHBTEELEE)
=t
iy R —
i o »—|H—1—
0 e 1 — 1 ©
= _:JL ] ool T3
” +0.03 3 N-M3 x 0.54§ &85
22 SEMHBTRRE) BT R B = R
- EiRBiTRE#E
4
_____ \ .
& =Sy ] N\ ° .
(o S — -
# 3 s S —H
d oo 5L =
. s % & e o ¥ 8 &
d e e © 9 i
@ = |
5 g =
10 © ::
3-M4 x 0.7 5 6 3
4-M3x 058G R4
6 M
KA 14.6
NA-M3 x 0.548 40 3.5
28 L = EHREMXQ8-30
K 14.6
as | 7 20 23 g
@ =
= -
©-¢| |[0-& i
E = 2 My ey @3 7y om o
AiE ISR e Co
f
N i &
zz
(NN=1)x H G
H 12.5, 5.7 12.5 5.7
5 s
H ol i (1 w ™ . j a
: P T l‘@‘ ) o N © @ ] ol £
_ - ) - o e o
i & 4@—— M g'—?— -
:— il o] o]
= ; will
! i B
-~ 4 = %: NN-M4 x 0. 738 50 %8
HA GA 5
$3HI""SiRa HEAA i mBB
N
MXQ8-10 25 4 Fi 25 2 13 19 11 17 23.5 - 4 46 45.5 53
MXQ8-20 25 4 14 28 2 14 28 10 28 33.5 - 4 56 55.5 63
MXQ8-30 26 6 - - 3 29 27 12 40 | 43.5 - 4 70 69.5 77
MXQ8-40 32 6 8 31 3 39 a1 14 52 53.5 - 4 84 83.5 91
MXQ8-50 46 6 8 29 4 37 58 13 78 63.5 | 825 8 109 | 108.5| 116
MXQ8-75 50 6 31 30 4 61 60 12 105 | 88.5 | 112.5 8 135 | 134.5| 142

http://www.goldenhorn.cn/ 36



Y

! :
%EX ®©4008-270-668

3 JIN JIAD SHOU

SR E (EFRXELSH)/ A RMXQFR T

B SNERSTE(EX)
HER(MXQ12)
5 s 2-M4 x 0. 7R ELR6 #HS02-M5x0.8
4.75 il 1 10 BR1(HRHEITERE)
) —HI N 1T
@ HiEx| & £ n
i L o
] ad
e ORI ==
BimiEITIESEE
N-M4 x 0. 74 65
29 5(REHBFRER) b4 R4 = a o
. / BiMETERE .
. 3 1, /3
n L (]
_._.A.. Q@ a — E — e _ﬂ_
- ol
‘ & =] e
Rl ;oo & o/ ®© & ® — N e
2 & Y 7 N e e _ __:EL ol o @ S
N L ap Ca ) e RN A AN 24 K e
P, 4 7] S
(= g2 [ oy & & '
5 £~ ﬁ <
13 2 L
1 - uw
3-M5 x 0.848 4L iRB F & o
N 2
18 (3-MxF = 4-M4 x 0.748 5 %6
3
8 - EMREMXQ12-40
KA 18.5 NA-M4 « 0. T8 6 T4
5 8.5
K 18.5 39 29 9
8.5
2 11 —
o @ | e—5
R — — <l g (=1
= § Fe S 2 T 7 A ) o~
(SR AN AN Y L
|
5 (=1
= T @ @
. (NN-1)xH G
H
A LB 16 _ 8 16 8
[ h KSKS) U F—
-t e o~ o -
B 4 BN 3 4 1B
o o £ Ay o Fa? Facy - 1 . ‘2 e ) ! i 2 -
WY " YN 5 i : [ .
.n_ o [ g I +
B | - g4
= Lo -_rv
7 | !
J A & . B E h
HA GA NN-M5 x 0.848 41 510

¢ 4H9' S R4

HEAA

4H9D "PEa

L\ NN
MXQ12-10 28 4 18 32 2 18 32 12 34 | 26.5 - 4 67 66 76
MXQ12-20 28 4 18 32 2 18 32 12 34 | 36.5 = 4 67 66 76
MXQ12-30 38 4 20 40 2 20 40 14 42 | 46.5 = 4 77 76 86
MXQ12-40 34 6 - - 3 38 39 15 58 | 56.5 = 4 94 93 | 103
MXQ12-50 34 6 9 39 3 48 39 13 70 | 66.5 = 4 104 | 103 | 113
MXQ12-75 36 8 23 36 4 59 72 17 110 | 91.5 |117.5 8 148 | 147 | 157
MXQ12-100 36 10 12 36 5 84 72 17 135 | 116.5|142.5 8 173 [ 172 | 182

37/http://www.goldenhorn.cn/



1’ i

3 JIN JIAD SHOU

%Ex ®©4008-270-668

SR E (EFRXELSH)/ A RMXQFR T

B MERTE(EX)
ﬁ;&ﬂlmxoﬂlsj 2-M5 x 0. 888 4 RE
#S02-M5x0.8
3 11
o 5.5 J | 12 BR1I2EERATERER
SEEAE Ea Tl
e
Ei= el Tool4l
36.5(HMMMTREE) HMAfTHER 1, .55
M-M5 = 0.88 &1 6
¢5.Dnnaﬂ5
'y BEMmiTHER
] 8
o .
o e N )00
gj.ﬁ H I
B o & © =
ﬁ N Ea— g R = . ol
3 &| < O @D &
4 [E/TE "
2 = = | =
6.5 n - o
14 QEE o
3 ey
3-M6 x 18§10 - {%'1” z 4-M5 x 0.888 4L R 7 \
10 M
KA 29 NA-MS5 x 0.8% 41 86.5 J’Em@ MXQ16_50
55 10 45 a5 13
K 21
2 ss] 19 —
N S [ o —H—1{-
a w5 ey A ey FEN o Pan)
- IS AN~ I i
'H_
z LM
zZ — D @
(NN-1)H 21 g 21 ]
H
— £ U miln
— - 1 g_j w g - N L:_ | —
H % _+_} 3 2= w -4 o| 4
AL £ \-_Lf | £ ‘\..JI,,/ k= i - B
[©6-6—©0 & e ==
F : Dl B
- U__ --\+-F i
| 5% -
I
LA & LB NN-M86 x 188 & %12
$5H9 S s HA GA C!fL.g
g HEAA #mEBB
z
RS Y G H | NN | GA | HA I | J | K | KA | NA M Z ZZ
MXQ16-10 38 4 18 39 2 18 39 12 40 28 - 4 78 77 89
MXQ16-20 38 4 18 39 2 18 39 12 40 38 - 4 78 77 89
MXQ16-30 48 4 19 48 2 19 48 12 50 48 - 4 88 87 99
MXQ16-40 58 4 19 58 2 19 58 12 60 58 - 4 98 97 109
MXQ16-50 40 6 - - 3 48 45 20 68 68 91 8 114 113 125
MXQ16-75 46 6 21 52 3 73 52 15 105 93 123 8 146 145 157
MXQ16-100 44 8 36 44 4 80 88 18 145 118 166 8 189 188 200
MXQ16-125 44 10 17 44 5 105 88 23 165 143 191 8 214 213 225

http://www.goldenhorn.cn/ 38



4
, S2F9BA (0 4008-270-668 SHBE(EFREL SH)/ WEEMXQRS

© JIN JIAD SHOU

B SMERTE(EXR)
ER(MXQ20)
2-M6 x 188 5T K7 #S02Rex1/8
25 .13
I 6.5 J 1 8 BEAIHEREITRER)
w
—— | [—1-1- e
et I} et
i >[5 13
T :h—!
i
R wello o113
A5 5(WMIRIATEEE) HRBITREE N-M5 x 0.848 & K8 15 6
_ 4 ERAEEE
& I H_n ] -
N ] i — L 1 &
ZNC , 7 - ,
[©° 5 e o 2 F— =0 ) K
F —&1t l?é Sy £ _;El 2| g R
I ® g — = 2 iy -
R % 8 Y o o T
|==e el 1A 3 1§21 1
0
7 F A = 9 4-MS5 x 0.8%9 5 8
18 N_, 2.
655" K5 27 (@ "IF i
3-M6x 1B ER13 &
JE#E MXQ20-50
13 M
L. 25 48 36 12
65 | 12 NA-ME x 148436
K 25 —
o) 65 | 12 TH
N g Il
IR @—e@—@—e— &
=N g _t
. & fes3
= L—s
ZZ
(NN-1)H ] 26 10.5
H 26 10.5
LA Y
; S .
E — 3 I{E}&}Ei
E@ﬁ*@'—@ﬁ =1 ==
i e @9 1
LB P
A 6 L8 | I
#5HE 35 o Gﬁj
gﬁ £ mBB
2
B (mm)
= F L\ G H NN KA NA M | Z ZZ
MXQ20-10 45 4 22 46 2 - 4 94 | 92.5| 108
MXQ20-20 40 4 22 46 2 - 4 94 | 92.5 | 108
MXQ20-30 48 4 28 46 2 - 4 94 | 92.5 | 108
MXQ20-40 58 4 22 56 2 - 4 104 |102.5| 118
MXQ20-50 42 6 - - 3 - 4 122 |120.5| 136
MXQ20-75 b5 6 17 56 3 73 56 23 100 96 126 8 155 |1563.5| 169
MXQ20-100 50 8 18 56 4 74 | 112 25 155 | 121 | 183 8 212 |210.5| 226
MXQ20-125 55 8 37 59 4 96 | 118 18 190 | 146 | 211 8 240 |238.5| 254
MXQ20-150 62 8 56 62 4 118 | 124 21 215 | 171 | 239 8 268 |266.5| 282

39/http://www.goldenhorn.cn/



Y ¢
s Sk x (©4008-270-668 SHBAFERREL SH)/NEAEMXQRS
B 5hERTE(EX)
8 8(MXQ25) \ . 2-M8& x 1.2548 &L W9 i#S0 2-Rcl/8
8 1/ ) .. 15 BXIT(HEHETRER
@
w0 __: \g—) ) \f"\ I:I
- 5 & & =
H L]
ilm
=, @] le-of1
20 6.5
54 5(H WS EITIRER) BimETEEE
ﬁ 867" &6 N6 x 13B50R 11 ERATERE
fﬁ\ %.F F ~
— EiS! - O
oD i = : — R gh
TN ,ﬁ = o | ®
F o 5| [o o
B 7N ﬁ; N b ol aC)
& @ -0 E Y 9 2 o 8 = |
MR {@ s e o) o K =
= (Nl |
E @ wf e
6.5 N M . y
21.5 20 (zF g% 4-M6 x 18 51 10
3-M8 x 1.25 485 F 15 z
JE#1E MXQ25-75
15 M NA-M8 x 1.2548 6 8
KA 31 65 50 22
8 15
K 31 [ H
I} ] 15 _r_'
s H
OO o= LN A Ay A A~ A
0 = IS ZAN AN e
2 2 H
_H & &
= L
7z
(NN-1)xH T 32 1.5 32 11.5
LA H .8 Y —— U
= @% g o o -@”‘Wﬁ:s&
i - - 8 B @ € s B
Do O o® o o §— === — —
v E: ™e % P
2 15 il Ny |
4 I i . J
: LA 7 1_5 o / \;
+0.030 = H!A ,A SEK / =
DEHY ' “iRE %’ NN-M8 x 1.258 8% 16
& EHmEAA # BB
(mm)
R F N | G | H NN | GA|HA | I | J | K KA | NA | M Z zZ
MXQ25-10 55 4 23 55 2 23 55 16 56 a5 - 4 107 1 1056.5| 123
MXQ25-20 46 4 23 55 2 23 55 16 56 45 - 4 107 |1 105.5| 123
MXQ25-30 55 4 23 556 2 23 55 16 56 55 - 4 107 | 105.5| 123
MXQ25-40 65 4 23 65 2 23 65 16 66 65 - 4 117 | 116.5| 133
MXQ25-50 75 4 32 80 2 32 80 16 90 75 - 4 141 |139.5| 157
MXQ25-75 60 6 - - 3 72 65 31 100 | 100 - 4 166 | 164.5| 182
MXQ25-100 48 8 44 44 4 88 88 20 150 | 125 170 8 205 | 203.5| 221
MXQ25-125 60 8 31 66 4 97 | 132 18 205 | 150 223 8 258 | 256.5| 274
MXQ25-150 65 8 56 66 4 122 | 132 18 230 | 175 248 8 283 | 281.5| 299

http://www.goldenhorn.cn/40



1’ i

v

%Ex ®©4008-270-668

JIN JIAD SHOU

SR E (EFRXELSH)/ A RMXQFR T

B 5hERTE(EX)
eB-HmEEME  mxa [&Z]-[f7%][ |BS,BT.B
B
c HERES RS EMBESRE
< B \BkD ™
-y N e/ BxXF
1 == , ,i i
% % s D
@ @ ]
MXQ 8 X 20 MXQ12-16-25
o FiMEEN  wmxa [@&|-[7E][ |F
= T B E 2R R (mm)
°© o o BB
S B - . a—a B =
° B °
H
o |
[@ @] |
T8
cC | D
: MXQ6 30 | 16 | 8 | 4 | 8 |19.2] 0.3 | 28 | 22 | M3x0.5%s5
® R- H _| #=gn
R-HHH#  MXQ| 4] I:IH MXQ8 34 | 24 |12 | 5 | 10 |22.2]| 0.3 | 28.5|22.5| M4x0.786
i 2-P(#S M) MxQi2 43 29 |145]| 5 13 [29.2]| 0.3 | 37 29 | M5x0.8%8
MXQ16 54 42 | 21 | 6.5|15.5|35.7| 0.3 | 41 | 30 | MBx1®10
__:‘é o o Bli| MXQ20 60 35 [17.5| 7 | 18 |42.5| 0.5 [44.5|30.5| MEx1F12
é ]qj o MXQ25 74 | 44 | 22 | 65|215/405/| 0.5 | 50 | 35 [M8x1.25%15
F
lo o] %
MXQ8-12-16
D
. 5 i B (mm)
e A B Cc D E P
S 35 3 | o | |
d:‘@ %} @ @ o MXOB 4 17.5 40.5 16 3 M5 x0.8
3 3 2 MXQ12 5 22 51 | 22 | 3 | M5x08
|| re MXQ16 6 29 | 655| 25 | 3 | M5x0.8
| o MXQ20 8 3 | 785| 33 | - | Rci/s
o P-wERE wmxa&E|-[FE|[ P MXQ25 8 40 94 | 37 | - | Reis
- |
e
PollD O = 1o % (mm)
' B A|l B |c|D|E|F P
oo | -
MxQe 12 | 125] 6.3 | 26 | 55| 12 | M5x0.8
rﬁr@—@——o MXQ8 12 | 145 | 6.3| 31| 6.5| 15 | M5x0.8
: MXQ12 13 | 165 | 6.3| 41 | 8.5 20 | M5x0.8
" *?m 9 - MXxQ16 14 | 21 | 63| 52| 11 | 26 | M5x0.8
'i@' 1 e ;@"'_E MXQ20 20 | 26 |11.5| 65| 14 | 32 | Reci/8
MXQ25 20 | 32 |11.5| 79| 17 | 40 | Rci1/8

41/nttp://www.goldenhorn.cn/




kH)

@
, &
gs Esx ©4008-270-668 INEIS iR (B SHMXHES)

B RERE

#Lf2(mm)

Sm&ER 5 7 9 12
i i =5
FE A X1EA
=EERED 0.15MPa 0.06MPa 0.05MPa
EaERERD 0.7MPa
FRB AR T O CUE A )
EEEE 50~500mm/s
LMD AR, 1R E AR AR *ftifFifJE’éJ 0.0125 | 0.025 | 0.05 | 0.1
ARG R, TRERB R L, = _TRE
'EIMEEEEEUEEQ %:‘F Wm‘-‘%#ﬁﬂﬁ%tqﬂ
A EERBEEAETF % TRKEAZ(Mm) iy
SRR R IREEE REMEFF IR EE HEA:D-A9,EAEFE . D-M9O]
*RRAFHEAMXUERSIR 15, BEORE M5 x 0.8
T4, 1ERBETE12HISOVG32,
W REERTRHE W TR T K kR
. _ o AR PREITIE o
i EHER A MXH T A93 F] e TiE g
fiz - 6 A93(V)
712 BT LA 10 5,10,15,20,25, A96(V) M9IB(V)
m 16 30,40,50,60 | M6N(V) FONW
BMMFRBESE — g [14 20 NSF(¥)
%ia%pr;ﬁm;p;g o) WS T X MAE RIS ML XM RTI, E0
*gmtﬁ Eﬁ%ﬁ%ﬂ‘]ﬁﬁ, Wﬁﬁﬁﬁﬁ% 3&3&%—0.5"1,

L-3m,Z-5m,%i: A93L.

INBUERHE S (o) B R L
SELME R E AN=EEESHE

Rz

FiT5 Buss

flaHZ=RE

http://www.goldenhorn.cn/ 42



4
, S2F9BA (©)4008-270-668 INBYSEB A (EL SHMXHES]

© JIN JIAD SHOU

B SN E R~ E(ZE k)
MXH6 LT
5 o 5 R S
b & & | 2-M5x0.8
R . = a
8 LA LB ;é*’l':*“
3-M4x0.7

6.5

J

;:i.xm 7L $3.3 gEOus
’ : 6-¢ G FLE3.3 / 4-M5x0.8x4L

|
! [
L] " é
o il s © ©
|| m
4 o - _“33 _______________ — =t. g 105
[}
! &)
! iy ®
55 | | 10 3
4 NS
L2 8.5 3144712 17#2(mm) J]
16 39.5:17%8 5 4 |10 | - | 42 | 14
p— 4-M3%0.5 10 4 10 - 42 14
10 _| #4.8 15 4 20 - 52 24
— i 20 4 20 - 52 24
g —-%"jg@}—-—-—-—-—-g-—-— 25 4 |30 | - | 62 | 30
= 30 4 30 - 62 30
MXH10 - 40 6 20 20 72 45
50 6 25 25 82 85
| 60 6 30 30 92 60
@ & o e ||
=] = iy . 3y e e o g —
& & QR @@ [ |
11 LA LB ey
Ndtmar e

3-M5x0.8

|
WA ¢4.3
,\“-Mﬂ 6—¢%\\ Pt %Tg

e 4-M5x0.8x4L
i o] \

23
20

5

|

%
6.5
P

B " il 78 (mm) J
1 11?55 354712 > 2 i . = -
: i 10 4 | 10 | - | 49 | 14
- 165+ 15 4 | 20 | - | 59 | 24
20 4 | 20 | - | 59 | 24
12 it e 25 4 | 30 | - | 69 | 30
e ’ 30 4 | 30 | - | 69 | 30
ik © 40 6 | 20 | 20 | 79 45
¥ ﬂ_'%'_f?_'_'_‘_'_'g‘_'_ . 50 6 | 25 | 25 | 89 | 55
L 60 6 | 30 | 30 | 99 | 60

43/http://www.goldenhorn.cn/



o
& ERM
SEMIoN (©4008-270-668 NS ZhiB A (ELSHMXHERS

t JIN JIAD SHOU

W SME R~ E(ZX)

MXH16 i

c"u w | S 0 S OSSR VS S -
) @ 9 @
EoE S
14 LA LB Ik
3-M5x0.8 2 - | 2-M5x0.8

. i ®6
4-M4x0.7 m\ HEOWE
6-$7.5MFLEL4 4-M5x0.8x4L
of | §

|
/ [
i .
i = J
far) ! @ w
B 2 n ®
) 411 o Heee—= —— 0 ] m
S 17 o
LK — ®
0 10
w w
16 5 T7#(mm) | J
o5 10 NS 12.5 5 4 10 - | 58 20
14 42+§77 10 4 10 - 58 20
56+f7# 15 4 20 - 68 30
20 4 20 - 68 30
12 1044718 ;_SM“D'? 25 4 30 - 78 40
[T I 30 4 |30 -[78] a0
& &
. ___:]_ﬂ__@ ___________ | 40 6 20 20 | 88 50
SR o 50 6 | 25 | 25| 98 | 60
60 6 30 30 | 108 60
MXH20 .
— D ¢ © o
5% e e e e o 4-M5x0.8 % 8 B mRE2
O @ o @ D

J-M5x 0.8
14 LA LB a5

4-M5x0.8 BIL 651 ftmtn]. £

=11 \ 6- 09 SRILES 4-M5x0.8x4L \

o 3l \ |
3 i
o o & &
al 2 N 20
3 I o e o i T 8
o1& =
T (mm) | J
» Kiam NS 15 5 4 |10 | - | 64 | 20
15.5 52.5+{T# 10 4 10 = 64 20
32
68+1772 15 4 | 20 - 74 25
15 1045 4-M5x0.83F 8 20 4 20 = 74 25
28 4 | 30 = 84 40
] P o 30 4 |30 - 84 40
=
b A e | | 40 6 | 20 20 | 94 50
H o o 50 6 | 25 25 | 104 70
60 6 | 30 30 | 114 70

http://www.goldenhorn.cn/44



FFEREERURSETHE " RHE.
EAFMERSEEN | BUSIAE APNTRARESSRER  EESRARITAIIKE.

& A
Ml PARERETERR \ KB TRIG

FAL: 134-1222-6797 186-8005-2736 (4%

1 0677-61985577




	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48
	1

